Vol. 43, No. 11

March 14, 2024

Pages 253-298

_____ Kansas Register _

In this issue ...

Page	
- O -	

Rates	
Pooled Money Investment Board Notice of Investment Rates Effective March 11 - March 17, 2024	255
Notices	
Kansas State Board of Education	
Notice of Hearing on Pending Petition to Transfer School District Property	
Kansas Children's Cabinet and Trust Fund Notice of Meeting	256
Kansas State Board of Regents	
Notice of Funding Availability for Kansas Nursing Programs Notice of Commencement of Negotiations for Construction Manager At-Risk Services for Wichita State University	
Wichita State University	
Notice of Intent to Lease Real Property	
Notice of Intent to Lease Real Property	
Kansas Department of Agriculture – Division of Conservation Notice to Contractors for Pottawatomie Creek Watershed Joint District	
No. 90 Dam Rehabilitation Project	
Kansas Department of Administration – Office of Accounts and Reports	
Notice of Petroleum Storage Tank Release Trust Fund Unobligated Balances	
for March 2024	
Kansas State Board of Regents Universities Notice to Bidders for University Purchases	258
Kansas Department of Administration – Office of Procurement and Contracts	
Notice to Bidders for State Purchases	
North Central Regional Planning Commission	
Notice to Bidders for Hazmat Equipment	
Notice to Bidders for Trench Rescue Equipment Notice to Bidders for Bomb Squad Equipment	
Kansas Department of Health and Environment	
Notice of Proposed Kansas Air Quality Class I Operating Permit	
Renewal for Cloud Ceramics	
Notice of Clean Water Act Section 401 Water Quality Certification for the Kansas Department of Transportation	260
Notice of Proposed Kansas/Federal Water Pollution Control	200
Permits and Applications	261
Kansas Department for Children and Families	2.42
Request for Proposals for Children's Justice Act Request for Proposals for Continuum of Care for Child and Family	
Well-Being Coalition in Sedgwick County	
Kansas Public Employees Retirement System	
Request for Proposals for Group Life Insurance Benefit Plans	264
Kansas City Kansas Community College	244
Request for Proposals for HVAC System Replacement South Kansas & Oklahoma Railroad	
Request for Proposals for Switch Replacement and Rail Realignment Project	
in Winfield, Kansas	
Kansas & Oklahoma Railroad	
Request for Proposals for South Yard Tie Installation Project	
Request for Proposals for South Yard Rail Replacement Project	
Kansas Department of Transportation Request for Proposals for Statewide Communication Integration	
Support Project	
Request for Proposals for Wichita, Kansas Communication Integration	
Support Project	

Cover Artwork: Wheat Ready to Harvest Photo by Todd Caywood

Vol. 43, No. 11, March 14, 2024

The Kansas Register is an official
publication of the state of Kansas,
published by authority of K.S.A.
75-430. The Kansas Register is pub-
lished weekly and a cumulative
index is published annually by the
Kansas Secretary of State.
\$

© Kansas Secretary of State 2024. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Current and back issues of the Kansas Register (HTML and PDF Format) can be found at https://www.sos. ks.gov/publications/kansas-register. html.

Register Office: 1st Floor, Memorial Hall 785-368-8095 kansasregister@ks.gov



Published by Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 https://www.sos.ks.gov

Request for Proposals for Wichita, Kansas Statewide Traffic Management	
Center Engineering Operations and Staffing Support	
Request for Proposals for Construction Inspection Service for Project in Multiple Counties	
Executive Branch	
Kansas Secretary of State Notice of Business Forfeiture for February 2024	
Office of the Governor	
Executive Order No. 24-01, Proclaiming State of Drought for Kansas Counties	
Legislative Branch	
Legislative Administrative Services	
Legislative Bills and Resolutions Introduced February 29 - March 6, 2024	
Bonds	
Kansas Development Finance Authority	
Notice of Hearing on Proposed Agricultural Development Revenue Bonds	
Shawnee County, Kansas	270
Notice of Meeting and Hearing on Single Family Mortgage Revenue Bonds	
City of Lawrence, Kansas Summary Notice of Bond Sale	
Regulations	
Kansas State Board of Emergency Medical Services Permanent Administrative Regulation	270
Kansas State Fire Marshal	
Permanent Administrative Regulations	281
Kansas Secretary of State Temporary Administrative Regulation	
Kansas Lottery	202
Temporary Administrative Regulations	
Index to administrative regulations	
-	

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 3-11-24 through 3-17-24		
Term	Rate	
1-89 days	5.33%	
3 months	5.29%	
6 months	5.22%	
12 months	4.94%	
18 months	4.71%	
2 years	4.50%	
	Ioe	

Joel Oliver Executive Director Chief Investment Officer Pooled Money Investment Board State of Kansas

Board of Education

Notice of Hearing

The Kansas State Board of Education will conduct a public hearing on a pending petition to transfer school district territory from USD 113 (Prairie Hills) to USD 115 (Nemaha) March 22, 2024. K.S.A. 72-532 authorizes the Kansas State Board of Education to order such transfer of territory following a public hearing on any petition so filed. The hearing will take place at 3:00 p.m. in the Bern Community Building, 416 N. Main St., Bern, Kansas. Members of the public are invited to hear comments from representatives of each school district and will be given a limited time to provide their own comments to the appointed hearing officer. A description of the territory to be transferred may be requested by emailing 113landtransfer@ksde.org or by sending a written request to Kansas State Department of Education, Office of General Counsel, 900 SW Jackson St., Topeka, KS 66612. (continued) Residents of either school district may submit written testimony to those addresses as well. Any written testimony must be received by April 15, 2024.

> Dr. Randy Watson Commissioner of Education Board of Education

Doc. No. 051925

State of Kansas

Kansas Children's Cabinet and Trust Fund

Notice of Meeting

The Kansas Children's Cabinet and Trust Fund board will be conducting its virtual quarterly board meeting from 9:00 a.m. to 12:30 p.m. Friday, April 5, 2024. Information about the meeting and a copy of the agenda can be found, a day before the meeting, at http://www.kschildrenscabinet.org.

Melissa Rooker Executive Director Kansas Children's Cabinet and Trust Fund Doc. No. 051950

State of Kansas

Board of Regents

Notice of Funding Availability

The Kansas Board of Regents is seeking applications from accredited Kansas nursing programs with a Request for Proposals available February 27, 2024. This funding supports nursing faculty and laboratory supplies with a focus on student success. The term of the grant period is from July 1, 2024 through June 30, 2025. Information and application materials are available at https://www. kansasregents.org/workforce_development/the_kansas_ nursing_initiative.

> April White Director Workforce Development Board of Regents

Doc. No. 051912

State of Kansas

Board of Regents

Notice of Commencement of Negotiations for Construction Manager At-Risk Services

Pursuant to K.S.A. 76-7,125 et seq., notice is hereby given for the seeking of interest and qualifications for Construction Management At-Risk (CMAR) services for the Wichita State University (WSU) Wilkins Stadium Expansion Project – Phase 1. The Wilkins Stadium Phase 1 expansion project is part of a larger master plan for the existing 5,500 square foot softball stadium that was built in 1998. Phase 1 will be split into two phases to maintain access to the existing outdoor batting cages during construction. Phase 1A of construction is a new indoor practice facility (approximately 14,400 general square feet) located on the west side of the stadium adjacent to the Heskett Center. The indoor practice facility includes a full infield, nets to divide the field into batting cages, and a storage area. Phase 1B is a team facility (approximately 12,000 general square feet) that will be built immediately south and contiguous to the indoor practice facility. The team facility will include a new locker room, coach's locker room, classroom, team room, athletic training room, staff offices, break room, work room, and team laundry room.

Construction costs are estimated at \$7.4 million.

The construction manager at-risk will provide for each phase: cost estimating, scheduling, constructability reviews, and value engineering studies; procure equipment, prequalify subcontractors, and take bids; review bids with the design team and owner to determine bids to accept; prepare cost estimate(s) for the un-bid portion(s); provide a guaranteed maximum price and a bond; and manage construction and track all costs for the design team and owner's review.

An architectural program is available on the Wichita State University Purchasing website at https://www. wichita.edu/services/purchasing/Bid_Documents/Bid Documents.php. For more information contact Emily Patterson at 316-978-3444 or emily.patterson@wichita. edu.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051, 052, 053 and 054, and information regarding similar projects. Forms may be found at https:// admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each SOQ (statement of qualification) submittal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Submittals should be less than 10Mb and follow the current State Building Advisory Commission guidelines for Phase I of the Construction Management at Risk process, which can be found in Part B – Chapter 7 of the Building Design and Construction Manual at https://admin.ks.gov/offices/ ofpm/dcc/bdcm. Paper copies and flash drives containing copies of the submittals are not required.

Submittals should be sent to purchasing.office@ wichita.edu. Submittals received after the date and time noted below will not be forwarded to the Procurement Committee for review. If you have questions concerning the submittals, please contact Chad Bristow at 785-430-4245 or cbristow@ksbor.org. The PDF submissions shall be delivered to the attention of WSU Purchasing by 2:00 p.m. on or before March 29, 2024. Please include "Wilkins Stadium CMAR RFQ Response" in the subject title.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

> Emily Patterson Executive Director Facilities and Planning Wichita State University

Doc. No. 051945

State of Kansas Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to 1.22 acres of real property located on the northwest corner of the intersection of Fountain Avenue and 21st Street North, directly adjacent to the Wichita State University campus. This location would be designated for private development committed to supporting broadband infrastructure and Internet exchanges. The university is interested in leasing such ground to any individual, organization, or entity whose presence would advance WSU's vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. WSU intends to lease such space for a mutually agreeable period of time, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with WSU's educational mission and identify anticipated benefits to the university, its students, and the surrounding community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, community benefit commitments, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU and the surrounding community, design concepts, financial stability, and proposed use. Interested tenants will be responsible for all costs associated with the development and ongoing maintenance costs of any improvements. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of the improvement, and benefit to WSU. WSU will consider serious offers and inquiries from any financially qualified individual, group, organization. If interested, please contact Property Manager Crystal Stegeman at crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 051863

State of Kansas

Wichita State University

Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU), directly or through its affiliate corporation Wichita State Innovation Alliance, Inc., intends to lease, subject to all required state approvals, up to four acres of real property located on the Wichita State University's campus designated as the "Innovation Campus," for the private development and operation of a partnership building or buildings. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good. The university intends to lease such space for a mutually agreeable period of time up to sixty years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Interested tenants will be required to construct adjacent and adequate surface parking that will not be included in the leased ground. Rental rate shall be based on fair market value and negotiable based on term of lease, purpose/use of building improvement, and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization. If interested, please contact Senior Vice President for Industry and Defense Programs, Dr. John Tomblin at john.tomblin@wichita.edu or Property Manager Crystal Stegeman at crystal.stegeman@ wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

> Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

257

Doc. No. 051864

State of Kansas

Department of Agriculture Division of Conservation

Notice to Contractors

Project

Rehabilitation of Detention Dam Site D-30 located just west of Colorado Road, approximately 15 miles west, 3 miles south, then 0.3 miles west of intersection Maple Street and W. 7th Avenue in Garnett, Anderson County, Kansas, for Pottawatomie Creek Watershed Joint District No. 90.

General Scope of Work

Installing and grouting 160 feet of 6" pvc pipe in the existing 15" diameter corrugated metal principal spillway pipe; installing 140 feet of new 16" diameter principal spillway pipe; installation of sand collar; installing drawdown pipe and valve; working on the stilling basin; and associated earthwork and seeding.

Site Showing

Site showing at 1:00 p.m. Wednesday, April 10, 2024, at the Pottawatomie Creek Watershed Office, 146 E. 5th (continued) Ave., Garnett, KS 66032. We'll meet at the office and then go out to the site from there.

Bid Opening

Bid opening at 6:00 p.m. Tuesday, April 23, 2024, at the Pottawatomie Creek Watershed Office, 146 E. 5th Ave., Garnett, KS 66032. Sealed bids will be received until 5:00 p.m. April 23, 2024, by James Cubit, Manager/CO, 146 E. 5th Ave., Garnett, KS 66032.

Bid Documents

Bid documents (project manual, construction plans, proposal and bid form) may be obtained from James Cubit, Manager/CO, 146 E. 5th Ave., Garnett, KS 66032, office: 785-448-3642 cell: 785-304-2291.

For any questions pertaining to the project listed above, please contact Mr. James Cubit, Contracting Officer, Pottawatomie Creek Watershed at 785-448-3642 or 90watershed.lw@gmail.com.

> Steve Frost Executive Director Division of Conservation Department of Agriculture

Doc. No. 051946

State of Kansas

Department of Administration Office of Accounts and Reports

Public Notice

Under requirements of K.S.A. 65-34,117(c), as amended, records of the Office of Accounts and Reports show the unobligated balances are \$8,341,452.71 in the Underground Petroleum Storage Tank Release Trust Fund and \$6,214,677.46 in the Aboveground Petroleum Storage Tank Release Trust Fund at February 29, 2024.

> Jocelyn Gunter Director Office of Accounts and Reports Department of Administration

Doc. No. 051938

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: https://www. emporia.edu/about-emporia-state-university/businessoffice/purchasing. Additional contact info: phone: 620-341-5137, email: purchaseorders@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Cir., Emporia, KS 66801.

© Kansas Secretary of State 2024

Fort Hays State University – Electronic bid postings: http://www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785- 628-4251, email: purchasing@ fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https:// bidportal.ksu.edu. Effective August 1, 2023, all bids, quotes, or proposals must be submitted via the Kansas State University Bid Portal at https://bidportal.ksu.edu. Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. Additional contact information, phone: 785-532- 6214, email: kspurch@k-state.edu.

Pittsburg State University – Bid postings: https:// www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4167, email: swburke@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu/. The University of Kansas exclusively uses the online eBid tool and will no longer accept paper responses unless otherwise specified in a solicitation. Additional contact information, email: purchasing@ku.edu. Mailing address: University of Kansas, Procurement Department, 1246 W. Campus Road Room 20, Lawrence, KS 66045.

University of Kansas Medical Center – Electronic bid postings: https://www.kumc.edu/finance/supply-chain/ bid-opportunities.html. Additional contact information, phone: 913-588-1117, email: hunkemoore@kumc.edu. The University of Kansas Medical Center accepts only electronic bids.

Wichita State University – Bid postings: https://www. wichita.edu/services/purchasing/Bid_Documents/Bid Documents.php. Additional contact information, phone: 316-978-3080, fax: 316-978-3738, email: purchasing.office@ wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 38, Wichita, KS 67260-0038.

> Chris Robinson Director Purchasing and Contract Services Kansas State University

Doc. No. 051386

State of Kansas

Department of Administration Office of Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376.

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_FL.GBL.

Notices

03/29/2024	EVT0009608	Ag Permit – Melvern Wildlife Area – Tract 441 – KDWP
03/29/2024	EVT0009609	Ag Permit – Melvern Wildlife
		Area – Tract 323 – 192.4 Acres –
		KDWP
04/02/2024	EVT0009606	Ag Permit – Concannon Wildlife
		Area – 165.3 Acres – KDWP
04/02/2024	EVT0009612	Anesthesia Services – KNI
04/03/2024	EVT0009611	Ag Permit – Melvern Wildlife
		Area – Tracts 311, 436, 413, 331,
		329, 406 – KDWP
04/05/2024	EVT0009591	DCF Critical Incident – KDCF
04/09/2024	EVT0009624	On-the-Job Training – KDOC
04/10/2024	EVT0009617	Website Hosting and Support –
		KDCF
04/15/2024	EVT0009613	Window and Shower Curtains –
		OSH

The above referenced bid documents can be downloaded at the following website:

https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP_PUBLIC_MENU_FL.SCP_PUB_BID_CMP_ FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

https://admin.ks.gov/offices/procurement-contracts/ bidding--contracts/additional-bid-opportunities

There are No Bids Under this Website Closing in this Week's Ad

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Todd Herman Director Office of Procurement and Contracts Department of Administration

Doc. No. 051956

(Published in the Kansas Register March 14, 2024.)

North Central Regional Planning Commission

Notice to Bidders

Request for bids for hazmat equipment will be accepted by the North Central Regional Planning Commission (NCRPC) until 10:00 a.m. (Central Time) Tuesday, March 26, 2024, at 109 N. Mill St., Beloit, KS 67420, at which time they will be publicly opened and read aloud at the same address. Copies of the Request for Bid and project specifications can be accessed by going to http://procurement. ncrpc.org/HS/projects.html or by contacting the NCRPC at 785-738-2218 or hlscoordinator@ncrpc.org. This action is being taken on behalf of the Northeast Kansas Regional Homeland Security Council. Estimated project value exceeds 15,000.

Lisa Peters Homeland Security Coordinator Assistant Executive Director North Central Regional Planning Commission Doc. No. 051939 (Published in the Kansas Register March 14, 2024.)

North Central Regional Planning Commission

Notice to Bidders

Request for bids for trench rescue equipment will be accepted by the North Central Regional Planning Commission (NCRPC) until 10:00 a.m. (Central Time) Thursday, March 26, 2024, at 109 N. Mill St., Beloit, KS 67420, at which time they will be publicly opened and read aloud at the same address. Copies of the Request for Bid and project specifications can be accessed by going to http:// procurement.ncrpc.org/HS/projects.html or by contacting the NCRPC at 785-738-2218 or hlscoordinator@ncrpc. org. This action is being taken on behalf of the Southwest Kansas Regional Homeland Security Council. Estimated project value exceeds \$25,000.

Lisa Peters Homeland Security Coordinator Assistant Executive Director North Central Regional Planning Commission Doc. No. 051940

(Published in the Kansas Register March 14, 2024.)

North Central Regional Planning Commission

Notice to Bidders

Request for bids for a bomb squad equipment will be accepted by the North Central Regional Planning Commission (NCRPC) until 10:00 a.m. (Central Time) Thursday, March 26, 2024, at 109 N. Mill St., Beloit, KS 67420, at which time they will be publicly opened and read aloud at the same address. Copies of the Request for Bid and project specifications can be accessed by going to http:// procurement.ncrpc.org/HS/projects.html or by contacting the NCRPC at 785-738-2218 or hlscoordinator@ncrpc. org. This action is being taken on behalf of the South Central Kansas Regional Homeland Security Council. Estimated project value exceeds \$25,000.

Lisa Peters Homeland Security Coordinator Assistant Executive Director North Central Regional Planning Commission Doc. No. 051941

State of Kansas

Department of Health and Environment

Notice Concerning Proposed Kansas Air Quality Class I Operating Permit Renewal

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality operating permit. Cloud Ceramics has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from *(continued)* the facility; the emission limitations, standards, and requirements applicable to each source; and the monitoring, record keeping, and reporting requirements applicable to each source as of the effective date of permit issuance.

Cloud Ceramics, 1716 Quail Rd., Concordia, KS 66901, owns and operates a brick and clay product manufacturing facility located at 1716 Quail Rd., Concordia, Cloud County, KS 66901.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review during normal business hours of 8:00 a.m. to 5:00 p.m. at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366 and at the North Central District Office, 3040 Enterprise Dr., Salina, KS 67401. To obtain or review the proposed permit and supporting documentation, contact Donald Dyster, Jr. at the central office of KDHE at 785-291-3271, or Jessica Fair at the North Central District Office at 785-827-9639. The standard departmental cost will be assessed for any copies requested. The proposed permit, accompanied with supporting information, is available, free of charge, at the KDHE BOA Public Notice website at http://www. kdheks.gov/413/Public-Notices.

Please direct written comments or questions regarding the proposed permit to Donald Dyster Jr., KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, April 15, 2024.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Donald Dyster Jr., KDHE BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, April 15, 2024, in order for the Secretary of Health and Environment to consider the request.

The U.S. Environmental Protection Agency (EPA) has a 45-day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Keith Johnson, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, KS 66219, phone 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

The preceding notice refers to the air permit for Cloud Ceramics located at 1716 Quail Rd., Concordia, Cloud County, KS 66901. If you want more information or you have other questions, please contact the KDHE Non-Discrimination coordinator and call 785-296-5156 or send an email to KDHE.NonDiscrimination@ks.gov. El aviso anterior se refiere al permiso de aire para Cloud Ceramics ubicado en 1716 Quail Rd., Concordia, Cloud County, KS 66901. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación de KDHE y llame al 785-296-5156 o envíe un correo electrónico a: KDHE. NonDiscrimination@ks.gov.

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 051944

State of Kansas

Department of Health and Environment

Notice of Water Quality Certification

The Kansas Department of Health and Environment (KDHE) has drafted a water quality certification per Section 401 of the Clean Water Act (CWA) requested by the Kansas Department of Transportation for United States Army Corps of Engineers (USACE) Public Notice No. NWK-2018-01264 authorization found at https://www. nwk.usace.army.mil/Media/Public-Notices. The applicant proposes the placement of fill materials within wetlands and stream channels for the purpose of adding capacity and widening a section of the South Lawrence Trafficway (SLT). The work would increase traffic capacity through this section of roadway over the current condition. Water bodies impacted totaling nine stream channels and six wetlands within the project area include Yankee Tank Creek and the Wakarusa River.

The draft certification and additional information containing the link to the USACE Public Notice will be posted on the KDHE website at https://www.kdhe.ks.gov/1095/Section-401-Water-Quality-Certification on or before March 14, 2024. Persons wishing to comment on the referenced draft document must submit their comments in writing by email to KDHE at KDHE.NPS@ks.gov by April 14, 2024, if they wish to have their comments considered in the formulation of final determinations for 401 regarding this public notice.

For more information, contact Scott Satterthwaite, Watershed Management Section, Bureau of Environmental Field Services, KDHE at Scott.Satterthwaite@ks.gov.

> Janet Stanek Secretary ment of Health and Environment

Department of Health and Environment

State of Kansas

Doc. No. 051952

Department of Health and Environment

Notice of Proposed Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

Las acciones propuestas con respecto a los documentos preliminares se basan en la revisión del personal, aplicando los estándares, regulaciones y limitaciones de efluentes apropiados del estado de Kansas y de la Agencia de Protección Ambiental de Estados Unidos. La acción final resultará en la emisión de una Autorización Federal del Sistema Nacional de Eliminación de Descargas de Contaminantes y un permiso de Control de Contaminación del Agua de Kansas, sujeto a ciertas condiciones, revocación y reemisión del permiso designado o terminación del permiso designado. Si desea obtener más información en español o tiene otras preguntas, por favor, comuníquese con el Coordinador de No Discriminación al 785-296-5156 o en: KDHE. NonDiscrimination@ks.gov.

Public Notice No. KS-AG-24-063/070

Pending Permits for Confined Feeding Facilities

Name and Address of Applicant	Legal Description	Receiving Water
Lowe Living Trust - Lowe Farm	NW/4 of Section 03 T23S, R25E	Marais des Cygnes River Basin
3717 Wattles Rd.	Linn County	
Prescott, KS 66767	2	

Kansas Permit No. A-MCLN-M005

The proposed action is to reissue an existing state permit for an existing facility for 200 head (280 animal units) of mature dairy cattle, 50 head (50 animal units) of cattle weighing more than 700 pounds and 50 head (25 animal units) of cattle weighing 700 pounds or less; for a total permitted capacity of 300 head (355 animal units). There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Davidson Family Farm 1335 800 Ave.	SW/4 of Section 30 T15S, R03E	Smoky Hill River Basin

Dickinson County

Kansas Permit No. A-SHDK-M013

Hope, KS 67451

The proposed action is to reissue an existing state permit for an existing facility for 100 head (140 animal units) of mature dairy cattle. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
David Hartter Finisher #3	SE/4 of Section 06 T02S, R14E	Missouri River Basin
2225 192nd Rd.	Nemaha County	

Kansas Permit No. A-MONM-S073

Sabetha, KS 66534

The proposed action is to reissue an existing state permit for an existing facility for 2,400 head (960 animal units) of swine weighing more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Roger Macke 1970 F Rd.	NW/4 of Section 36 T02S, R11E	Missouri River Basin
Baileyville, KS 66404	Nemaha County	
Daney vine, KS 00404	inclinatia County	

Kansas Permit No. A-MONM-B004

The proposed action is to reissue an existing state permit for an existing facility for 999 head (999 animal units) of cattle more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
James Hartter 2492 V Rd.	NW/4 of Section 03 T02S, R14E	Kansas River Basin
Sabetha, KS 66534	Nemaha County	

Kansas Permit No. A-KSNM-S023

The proposed action is to reissue an existing state permit for an existing facility for 1,400 head (560 animal units) of swine more than 55 pounds and 20 head (10 animal units) of cattle 700 pounds or less, for a total of 570 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
J-Six Enterprises, LLC - Sequi Site 289 10th Rd. Clyde, KS 66938	SE/4 of Section 08 T04S, R01E Washington County	Lower Republican River Basin

Kansas Permit No. A-LRWS-S038

The proposed action is to reissue an existing state permit for an existing facility for 2,490 head (996 animal units) of swine weighing more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Ryan Georg 1427 Avenue L Hargrave, KS 67556	SW/4 of Section 26 T17S, R20W Rush County	Upper Arkansas River Basin

Kansas Permit No. A-UARH-B017

The proposed action is to reissue an existing state permit for an existing facility for 960 head (960 animal units) of cattle weighing more than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Legal Description **Receiving Water** Name and Address of Applicant

Nelson Circles, Inc.	SW/4 of Section 21 &	Lower Arkansas
Bo Nelson	NW/4 of Section 28	River Basin
1566 210th Ave.	T26S, R17W	
Lewis, KS 67552	Edwards County	

(continued)

Kansas Permit No. A-ARED-C002 Federal Permit No. KS0088251

The proposed action is to approve an update to the Nutrient Management Plan (NMP) received for this existing facility currently permitted for 5,500 head (5,500 animal units) of cattle weighing more than 700 pounds The facility's NMP was updated to include a change in the application rate limitation for two fields. The fields' application rate limitations for three fields have become less restrictive than the previous NMP. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Public Notice No. KS-AG-R-24-006

Per Kansas Statutes Annotated 65-171d, the following registration has been received for a proposed facility.

Name and Address of Registrant	Legal Description	County
T&M Cattle, Inc Home Place 1030 340th St. Hiawatha, KS 66434	NW/4 of Section 03 T01S, R16E	Brown

Public Notice No. KS-Q-24-026/033

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Beverly, City of PO Box 137 Beverly, KS 67423	Saline River via Unnamed Tributary	Treated Domestic

Kansas Permit No. M-SA01-OO01 Federal Permit No. KS0095141

Legal Description: SW1/4, SW1/4, NE1/4, & NW1/4, NW1/4, SE1/4, Section 15, Township 12S, Range 6W, Lincoln County, Kansas

Facility Location: 39.00907, -97.97469

The proposed action consists of modifying the existing Kansas/NPDES Water Pollution Control permit. The existing facility is a three-cell wastewater stabilization lagoon system with a minimum of 120 days detention time. The facility receives domestic wastewater from residential and commercial areas and industrial wastewater from local manufacturers. The permit has limits for Biochemical Oxygen Demand, and Total Suspended Solids; and monitors for pH, Ammonia, E. coli, Chlorides, Sulfates, Selenium, and Lead.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Elmdale, City of PO Box 8 Elmdale, KS 66850		Treated Domestic
Kansas Permit No. M-N	NE22-NO01	

Federal Permit No. KSJ000351

Facility Location: 38.374917, -96.642881

The proposed action consists of modifying the existing Kansas/ NPDES Water Pollution Control permit. The existing facility has:

1. Three Cell Wastewater Stabilization Lagoon System

Total Surface Area: 2.04 acres

- a. Cell 1: 0.88 acres
- b. Cell 2: 0.74 acres
- c. Cell 3: 0.42 acres
- 3. Rated Flow: 0.0142 MGD

Name and Address **Receiving Stream** Type of Discharge of Applicant Solomon River

Delphos, City of PO Box 376

Treated Domestic

Delphos, KS 67436

Kansas Permit No. M-SO11-OO02 Federal Permit No. KS0092169

Legal Description: SE¹/₄, NE¹/₄, NE¹/₄, Section 21, Township 9S, Range 4W, Ottawa County, Kansas

Facility Location: 39.26092, -97.76258

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a three-cell wastewater stabilization lagoon system with a minimum of 120 days detention time. The facility receives domestic wastewater from residential areas. The total detention time at design flow is 145 days. The permit has limits for Biochemical Oxygen Demand, and Total Suspended Solids; and monitors for pH, Ammonia, E. coli, Chlorides, Sulfates, Selenium, and Lead.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Lucas, City of	Saline River	Treated Domestic
PO Box 308	via Wolf Creek	
Lucas, KS 67648-0308		

Kansas Permit No. M-SA08-OO02 Federal Permit No. KS0095222

Legal Description: SE¹/₄, SW¹/₄, NE¹/₄, Section 34, Township 11S, Range 11W, Russell County, Kansas

Facility Location: 39.05297, -97.52846

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a two-cell wastewater stabilization lagoon system with a minimum of 150 days detention time. The facility receives domestic wastewater from residential and commercial areas. The permit has limits for Biochemical Oxygen Demand, and Total Suspended Solids; and monitors for pH, Ammonia, E. coli, Chlorides, Sulfates, and Selenium.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Russell, City of PO Box 112 Russell, KS 67665	Fossil Creek via Unnamed Tributary	Treated Domestic
Kansas Permit No. M-SH31-OO02		

Federal Permit No. KS0091367

Legal Description: SE¼, SW¼, NE¼, Section 34, Township 11S, Range 11W, Russell County, Kansas

Facility Location: 38.87457, -98.84148

The proposed action consists of reissuance of a Kansas/NPDES Water Pollution Control permit for an existing facility. The existing facility is a five-cell wastewater stabilization lagoon system with a minimum of 120 days detention time and cascaded aeration of the effluent. The facility receives domestic wastewater from residential and commercial areas and industrial wastewater from local manufacturers. Reclaimed wastewater is used for grass/cropland irrigation, and also chlorinated and utilized for golf course irrigation. The permit has limits for Biochemical Oxygen Demand, and Total Suspended Solids; and monitors for pH, E. coli, Nitrates, and Nitrites.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Schenck Process Holding North America 810 S. Old Hwy. 75 Sabetha, KS 66534		Process Wastewater
Kansas Permit No. P-KS65-OO02 Federal Permit No. KSP000201		
Facility Location: 39.89	500, -95.28921	

Vol. 43, No. 11, March 14, 2024

The proposed action consists of modifying and reissuing the above referenced pretreatment permit. The primary change is adding a compliance schedule, which requires the facility to consistently meet pollutant limits in their permit. The facility has decided to install a treatment system so they can consistently meet limits for copper, chromium and zinc. The facility has agreed to the schedule. This facility manufacturers various types of pneumatic material handling equipment made of stainless steel. These metal parts are processed in one of two wash bays, using a conversion coating operation, to prepare the metal for paint or to clean the metal parts. Outfall 001A consists of treated wastewater from a phosphating operation, before it discharges to the city sanitary sewer.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Cornejo & Sons, LLC 2060 E. Tulsa St. Wichita, KS 67216	Neosho River via Rock Creek via Unnamed Tributary	Process Wastewater

Kansas Permit No. I-NE25-PO01 Federal Permit No. KS0088889

Legal Description: NW¼ of SE¼ of Section 9 and NW¼ of Section 10, Township 29S, Range 19E, Neosho County, Kansas

Facility Location: 37.53493, -95.32533

The proposed action consists of reissuing the above referenced NPDES permit. Only minor changes were made to the permit. This is a limestone quarrying and crushing operation, with no washing. Outfalls 001A and 002A consists of stormwater runoff. Outfalls 003A, 004A and 005A, consists of pit water that is pumped from settling ponds, before being discharged.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Allen County Commission Director of Public Works 1 N. Washington Iola, KS 66749	Neosho River via Elm Creek via Unnamed Tributary via Roadside Ditch	Process Wastewater
Kansas Permit No. I-NE	39-PO01	

Kansas Permit No. I-NE39-PO01 Federal Permit No. KS0082473

Legal Description: E½ of SE¼, NE¼ of Section 2, Township 25S, Range 19E, Allen County, Kansas

Facility Location: 37.90449, -95.28532

The proposed action consists of reissuing the above referenced NPDES permit. No significant changes were made to the permit. This facility is a limestone quarrying and crushing operation with no washing. Outfalls 001 and 002 consists of stormwater runoff and quarry pit water. A Subtitle D landfill is also located on-site but this area is permitted by KDHE's Bureau of Waste Management under a separate permit.

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before April 13, 2024, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-24-063/070, KS-AG-R-24-006, KS-Q-24-026/033) and name of the applicant/permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Casey Guccione, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Andrew Bowman at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Jada Martin at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. Las preguntas o comentarios por escrito deben dirigirse a Erich Glave, Director, Bureau of Environmental Field Services en KDHE: 1000 SW Jackson St., Suite 430, Topeka, Kansas 66612-1367; por correo electrónico: kdhe.feedlots@ks.gov; por teléfono: 785-296-6432. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Jamie Packard, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-4148 or email at Jamie.Packard@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at http://www. kdhe.ks.gov/livestock. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Janet Stanek Secretary Department of Health and Environment

Doc. No. 051951

State of Kansas

Department for Children and Families

Request for Proposals

The Kansas Department for Children and Families (DCF) announces the release of the Grant Request for Proposal (RFP) for Children's Justice Act (CJA). Sealed bids will be accepted no later than 2:00 p.m. (Central Time) May 3, 2024. A complete copy of the RFP with details of important dates may be found at http://www.dcf.ks.gov/Agency/Operations/Pages/OGC/Grant-RFP.aspx, under "Grant Requests for Proposals (RFPs)." Additional files may be located at this website throughout the process, so please monitor on a regular basis for changes.

Laura Howard Secretary Department for Children and Families

Doc. No. 051936

State of Kansas

Department for Children and Families

Request for Proposals

The Kansas Department for Children and Families (DCF) announces the release of the Grant Request for Proposal (RFP) for Continuum of Care for Child and Family Well-Being Coalition in Sedgwick County. Sealed bids will be accepted no later than 2:00 p.m. (Central Time) May 3, 2024. A complete copy of the RFP with details of important dates may be found at http://www.dcf.ks.gov/Agency/Operations/Pages/OGC/Grant-RFP.aspx, under "Grant Requests for Proposals (RFPs)." Additional files may be located at this website throughout the process, so please monitor on a regular basis for changes.

Laura Howard Secretary Department for Children and Families

Doc. No. 051937

State of Kansas

Kansas Public Employees Retirement System

Request for Proposals

The Kansas Public Employees Retirement System (KPERS) is soliciting competitive fee proposals from qualifying institutions with the intent to establish term contracts for the group life insurance benefit plans that are administered by KPERS.

Candidates should respond to this Request For Proposal (RFP) for the purpose of underwriting a basic life insurance plan that covers approximately 150,000 active KPERS members and an optional life insurance plan that currently covers appoximately 25,000 members.

Details are available in the RFP document at KPERS website at http://www.kpers.org. Proposals and all related questions must be sent electronically to Mary Beth Green, Chief Benefits Officer, 611 S. Kansas Ave., Suite 100, Topeka, KS, 66603-3803 at mgreen@kpers.org, and must be received by 12:00 p.m. (Central Time) April 4, 2024.

Laurie McKinnon General Counsel Kansas Public Employees Retirement System Doc. No. 051955

(Published in the Kansas Register March 14, 2024.)

Kansas City Kansas Community College

Request for Proposals

Kansas City Kansas Community College is accepting proposals from qualified vendors to replace and install HVAC systems at the main campus (Bid 24-007).

All questions regarding this Request for Proposals and the program it represents must be submitted in writing via email to the following contact person:

Linda Burgess, Purchasing Specialist Kansas City Kansas Community College lburgess@kckcc.edu Please visit our website for bid details at https:// kckcc.edu/about/organization/financial-services/doingbusiness/index.html.

> Linda Burgess Purchasing Specialist Kansas City Kansas Community College

Doc. No. 051957

(Published in the Kansas Register March 14, 2024.)

South Kansas & Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal to complete the below scope of repairs for the South Kansas & Oklahoma (SKOL) Railroad.

Scope of Work

This project consists of the replacement of three switches and the realignment of the rail to reduce wear and tear in the SKOL's Winfield, Kansas Yard. The current switches consist of 90lb rail and will be upgraded to 115lb. Switch schematics will be provided upon award. Provide all necessary labor, equipment, and logistical services to supply all installation/changeout services called for to complete this project.

Minimum Requirements

MSA and Roadway Worker Protection

- Contractors must complete, and have on file, a current Master Services Agreement with SKOL Railroad prior to starting work. Prior to submitting a proposal.
- Contractors shall always comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety. Workers and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
- Contractor, contractor employees, agents, and/or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
- Any subcontracted work will need to be approved by the SKOL Railroad prior to any work starting.
- All contractors will be required to complete WATCO Contractor Orientation at https://watcocontractor. com/. Any contractor who was previously enrolled in e-SHORTLINE with WATCO in the past, will be required to complete the WATCO Contractor Orientation. A RWIC qualified roadway worker must be on site at all times. This qualification can be obtained through the WATCO contractor website.

Work Windows

Impact to current railroad operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with the railroad. Contractor can anticipate a maximum work window of ten hours between the hours of 0900 and 1900. Work windows may be arranged seven days a week, if desired. The SKOL will not be operating trains over the weekend in this area. This topic will be further discussed during the pre-proposal meeting, as operations may change.

Notices

<u>Standards</u>

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval by the SKOL Railroad. All rails shall be replaced at standard gauge of 56-1/2". Switches must meet FRA 213 standard for guard check gauge for Class 2 at 54-1/4."

Submittals

The following documents shall be submitted by the contractor as part of the project at the times listed:

- Schedule of Work Submitted with proposal.
- Certificate of Insurance Submitted prior to construction.
- Safety Plan Submitted prior to construction.
- Proof of Roadway Worker Training Submitted prior to construction.

Other Responsibilities

- Permits Contractor is responsible for all federal, state, and local permits required for the work. Additional permit information will be covered at the pre-proposal meeting.
- Utilities Contractor is responsible to locate and protect site utilities.
- Site Clean-up Contractor is responsible for proper site restoration and proper disposal of materials, trash, containers, etc., must be disposed of in accordance with all local, state, and federal laws.

Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

Materials

All materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 15 feet from the centerline of any active track at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials will be disposed of accordingly by the contractor unless otherwise arranged with the SKOL Railroad.

Non-Project Areas

The SKOL Railroad has secured access to the project through the railroad right of way. Other access may be obtained by the contractor if he/she so chooses. All areas (public, private and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Pre-Proposal Meeting

The SKOL Railroad (Watco) shall hold a pre-proposal meeting at 10:30 a.m. March 26, 2024, to address any questions or clarify any portions of the project tasks. Please reach out to Mike Mulnix for specific meeting details.

Project Completion

It is expected the contractor must start construction no later than 60 days after being awarded the bid (dependent upon material deliveries) and complete the project within an agreed upon timeline. Prior to the completion of the project there will be a 3rd party final inspection. If there are any issues with the quality of work, the contractor will be responsible for fixing any issues found at cost to them. A NTP is in effect on this project – planned construction timeline is slated for completion in May 2024.

Submission of a Proposal

All proposals must be submitted no later than 4:00 p.m. April 19, 2024. All submitted proposals shall be reviewed by the SKOL Railroad. Please ensure your proposal includes all required information. All incomplete proposals shall be rejected. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- Provide a total sum of all Line Items on the proposal.
- Mobilization and Demobilization Lump sum.
- Labor (Install) for each line item; include all applicable taxes.
- RRPL Insurance Lump sum.

For further information or questions regarding the Request for Proposals or submittal of a proposal, please contact:

- Mike Mulnix, SKOL Roadmaster, phone 620-330-7415, email mmulnix@watco.com
- Jerod Gofourth, SKOL Assistant Roadmaster, phone 620-515-1809, email jgofourth@watco.com
- Cody McGee, Division Engineer, phone 217-855-4107, email cody.mcgee@watco.com

Work Reporting

Daily work reports must be filled out and submitted to Mike Mulnix – SKOL Roadmaster, Jerod Gofourth – SKOL Assistant Roadmaster, and Cody McGee – Division Engineer. Those reports should include updates to project schedules, any delays, and/or changes in the scope of work. A detailed summary report must be submitted upon the completion of the project.

> Cody McGee Division Engineer Watco Companies

Doc. No. 051920

(Published in the Kansas Register March 14, 2024.)

Kansas & Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal to complete the below scope of repairs for the Kansas & Oklahoma Railroad (KORR).

Scope of Work

This project consists of the installation of ties on four tracks. There will be a total of 2,400 ties. 600 ties installed per track on 417, 418, 419, and 420.

(continued)

Minimum Requirements

MSA and Roadway Worker Protection

- Contractors must complete, and have on file, a current Master Services Agreement with the KORR prior to starting work. Prior to submitting a proposal:
 - Contractors shall always comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety. Workers and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
 - Contractor, contractor employees, agents and/ or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
 - Any subcontracted work will need to be approved by KORR prior to any work starting.
 - All contractors will be required to complete WATCO Contractor Orientation at https://watco contractor.com/. Any contractor who was previously enrolled in e-SHORTLINE with WATCO in the past, will be required to complete the WATCO Contractor Orientation. A RWIC qualified roadway worker must be on site at all times. This qualification can be obtained through the WATCO contractor website.

Work Windows

Impact to current railroad operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with the railroad. Contractor can expect one-week windows to preform work. This topic will be further discussed during the pre-proposal meeting, as operations may change.

<u>Standards</u>

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval by the KORR Railroad. All rails shall be replaced at standard gauge of 56-1/2".

Submittals

The following documents shall be submitted by the Contractor as part of the project at the times listed:

- Schedule of Work Submitted with proposal.
- Certificate of Insurance Submitted prior to construction.
- Safety Plan Submitted prior to construction.
- Proof of Roadway Worker Training Submitted prior to construction.

Other Responsibilities

- Permits Contractor is responsible for all federal, state, and local permits required for the work. Additional permit information will be covered at the pre-proposal meeting.
- Utilities Contractor is responsible to locate and protect site utilities.
- Site Clean-up Contractor is responsible for proper site restoration and proper disposal of materials,

trash, containers, etc., must be disposed of in accordance with all local, state, and federal laws.

Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

Materials

All materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 15 feet from the center-line of any active track at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials will be disposed of accordingly by the contractor unless otherwise arranged with the KORR.

Non-Project Areas

The KÓRR Railroad has secured access to the project through the railroad right of way. Other access may be obtained by the contractor if he/she so chooses. All areas (public, private and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Pre-Proposal Meeting

The KORR (Watco) shall hold a pre-proposal meeting at 10:30 a.m. April 3, 2024, to address any questions or clarify any portions of the project tasks. Please reach out to Herb Lamkin for specific meeting details.

Project Completion

It is expected the contractor must start construction no later than 60 days after being awarded the bid (dependent upon material deliveries) and complete the project within an agreed upon timeline. Prior to the completion of the project, there will be a 3rd party final inspection. If there are any issues with the quality of work, the contractor will be responsible for fixing any issues found at cost to them. A NTP is in effect on this project – planned construction timeline is slated for completion in June 2024.

Submission of a Proposal

All proposals must be submitted no later than 4:00 p.m. April 26, 2024. All submitted proposals shall be reviewed by the KORR. Please ensure your proposal includes all required information. All incomplete proposals shall be rejected. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- Provide a total sum of all Line Items on the proposal.
- Mobilization and Demobilization Lump sum.
- Labor (Install) for each line item; include all applicable taxes.
- RRPL Insurance Lump sum.

For further information or questions regarding the Request for Proposals or submittal of a proposal, please contact:

- Herb Lamkin, KORR Roadmaster, phone 316-215-4080, email hlamkin@watco.com
- Cody McGee, Division Engineer, phone 217-855-4107, email cody.mcgee@watco.com

Work Reporting

Daily work reports must be filled out and submitted to Herb Lamkin – KORR Roadmaster and Cody McGee – Division Engineer. Those reports should include updates to project schedules, any delays and/or changes in the scope of work. A detailed summary report must be submitted upon the completion of the project.

> Cody McGee Division Engineer Watco Companies

Doc. No. 051953

(Published in the Kansas Register March 14, 2024.)

Kansas & Oklahoma Railroad

Request for Proposals

Interested parties are invited to submit a proposal to complete the below scope of repairs for the Kansas & Oklahoma Railroad (KORR).

Scope of Work

This project consists of the replacement of rail on three tracks, 417, 418, and 419. We are replacing the existing 90lbs rail to 115 RE on those three tracks. It will consist of 6,000 total feet of rail upgrade and 6,000 feet of surfacing.

Minimum Requirements

MSA and Roadway Worker Protection

- Contractors must complete, and have on file, a current Master Services Agreement with the KORR prior to starting work. Prior to submitting a proposal:
 - Contractors shall always comply with all parts of 49 CFR Part 214 and 219 regarding FRA Roadway Worker Safety. Workers and equipment shall remain clear of the track unless they have gained Roadway Worker Protection from a qualified person.
 - Contractor, contractor employees, agents and/or subcontractors must be enrolled and comply with the FRA 219 approved drug testing program.
 - Any subcontracted work will need to be approved by the KORR prior to any work starting.
 - All contractors will be required to complete WATCO Contractor Orientation at https://watco contractor.com/. Any contractor who was previously enrolled in e-SHORTLINE with WATCO in the past, will be required to complete the WATCO Contractor Orientation. A RWIC qualified roadway worker must be on site at all times. This qualification can be obtained through the WATCO contractor website.

Work Windows

Impact to current railroad operations must be kept to a minimum. When work must take place that causes an active track to be taken out of service for the purposes of performing work that pertains to the project, the contractor must pre-arrange a defined work window with the railroad. Contractor can expect one-week windows to preform work. This topic will be further discussed during the pre-proposal meeting, as operations may change.

Standards

All standards referenced by the project plans and specifications, as well as all applicable AREMA standards must be upheld during all phases of the project work, unless certain standards are excluded from the project with written approval by the KORR. All rails shall be replaced at standard gauge of 56-1/2".

Submittals

The following documents shall be submitted by the contractor as part of the project at the times listed:

- Schedule of Work Submitted with proposal.
- Certificate of Insurance Submitted prior to construction.
- Safety Plan Submitted prior to construction.
- Proof of Roadway Worker Training Submitted prior to construction.

Other Responsibilities

- Permits Contractor is responsible for all federal, state, and local permits required for the work. Additional permit information will be covered at the pre-proposal meeting.
- Utilities Contractor is responsible to locate and protect site utilities.
- Site Clean-up Contractor is responsible for proper site restoration and proper disposal of materials, trash, containers, etc., must be disposed of in accordance with all local, state, and federal laws.

Insurance

Contractor shall purchase required coverage and submit for verification a Certificate of Insurance.

Materials

All materials shall meet the requirements found in the project plans and/or specifications as well as applicable AREMA requirements. Material storage is granted on railroad right of way to the contractor. However, no materials shall be stored closer than 15 feet from the center-line of any active track at any time. Material and equipment laydown areas and reclaimed materials stockpiling locations shall be discussed and further clarified at the pre-proposal meeting. All removed materials will be disposed of accordingly by the contractor unless otherwise arranged with the KORR.

Non-Project Areas

The KORR has secured access to the project through the railroad right of way. Other access may be obtained by the Contractor if he/she so chooses. All areas (public, private and railroad right of way) that are used for access to the project, including parts of the railroad right of way which have no proposed work, shall be maintained and/ or remediated, incidental to the project, by the contractor to the satisfaction of the property owner if any damage to these areas occurs.

Pre-Proposal Meeting

The KORR (Watco) shall hold a pre-proposal meeting at 10:30 a.m. April 3, 2024, to address any questions or (continued) clarify any portions of the project tasks. Please reach out to Herb Lamkin for specific meeting details.

Project Completion

It is expected the Contractor must start construction no later than 60 days after being awarded the bid (dependent upon material deliveries) and complete the project within an agreed upon timeline. Prior to the completion of the project, there will be a 3rd party final inspection. If there are any issues with the quality of work, the contractor will be responsible for fixing any issues found at cost to them. A NTP is in effect on this project – planned construction timeline is slated for completion in June 2024.

Submission of a Proposal

All proposals must be submitted no later than 4:00 p.m. April 26, 2024. All submitted proposals shall be reviewed by the KORR. Please ensure your proposal includes all required information. All incomplete proposals shall be rejected. The structure of your proposal must be able to be clearly understood, all proposals shall provide the following line items and provide costs as required below:

- Provide a total sum of all line items on the proposal.
- Mobilization and Demobilization Lump sum.
- Labor (Install) for each line item; include all applicable taxes.
- RRPL Insurance Lump sum.

For further information or questions regarding the Request for Proposals or submittal of a proposal, please contact:

- Herb Lamkin, KORR Roadmaster, phone 316-215-4080, email hlamkin@watco.com
- Cody McGee, Division Engineer, phone 217-855-4107, email cody.mcgee@watco.com

Work Reporting

Daily work reports must be filled out and submitted to Herb Lamkin – KORR Roadmaster and Cody McGee – Division Engineer. Those reports should include updates to project schedules, any delays and/or changes in the scope of work. A detailed summary report must be submitted upon the completion of the project.

> Cody McGee Division Engineer Watco Companies

Doc. No. 051954

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to support our Statewide Communication and Integration. Interested consultants must submit a proposal as laid out herein by 12:00 p.m. (Central Time) March 27, 2024, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

• 163 – Congestion Management/ITS

If a firm is not currently prequalified by KDOT, the firm may still submit a proposal but must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form KDOT 1050–Consultant Qualification Questionnaire to provide this documentation. The KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Project Background

KDOT Bureau of Intelligent Transportation Systems (ITS) has statewide ITS devices such as Dynamic Message Signs (DMS), CCTV Cameras, and traffic sensors/ detectors. Many of these devices use KDOT's statewide fiber optic network to communicate with traffic management centers (TMCs) in Wichita, Kansas and Kansas City, Kansas. Some devices use cellular modem communications instead of fiber. KDOT also maintains an OSP database to map the location of devices, fiber, and power connections to devices.

This is a yearly contract which may be extended for up to four additional years.

Anticipated Consultant Scope

The project scope includes statewide support on an as-needed basis via phone, email and on-site to troubleshoot problems with cameras, signs, detectors, modems, and radios that prevent communication with central software and operations of those devices. Consultant will assist with installation of test devices, inspection of field locations, evaluation of products, configuration of existing devices, evaluation of interoperability needs, and other project support as needed. Consultant will also assist Bureau of ITS with as-built documentation and maintaining our OSP database/evaluating other database platforms.

Provide a scope of services/proposal to perform the following tasks:

- 1. ITS troubleshooting services.
- 2. Fiber optic network as-built drawings.
- 3. Fiber optic network database OSP updates, support, and other database evaluations.
- 4. Project management with monthly updates/meetings.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) March 27, 2024.
- 2. Anticipated Start Date: July 1, 2024.
- 3. Anticipated Calendar Completion Date: June 30, 2025.
- 4. Ranking of proposals is expected to occur on or around April 10, 2024.
- 5. Negotiations with the most highly ranked firm are expected to begin on or around April 15, 2024. An executed agreement is anticipated around May 31, 2024.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The PDF file name must read:
 - a. "KA-1833-25 Statewide Communication Integration Support FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"); No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. All attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 1 below describes the expected proposal organization and content sections.
- 7. Table 2 lists the evaluation criteria and associated weights which will be used to make a selection.
- 8. Depending on the number and quality of responses received, KDOT anticipates shortlisting (based on proposals) and holding interviews prior to final selection (which may be based on both proposals and interview content). If KDOT deems them necessary, evaluation criteria for interviews will be distributed to shortlisted consultant teams in advance.

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will approach the project design efficiently and how your firm will approach the project integration and coordination efforts with KanDrive and KaITS. Include any unique, cost-effective, and/or optimized solutions planned for the design.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and the percentage of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe the team's past performance with respect to the ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.

Table 1: Proposal Conte	nt
-------------------------	----

KDOT and Project Area	Describe the team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 2: Evaluation Factors

Evaluation Factor	Weight	
The quality and completeness of the response	10%	
Qualifications and experience of project manager and other key project team members proposed for services	25%	
Proposed project approach		
Availability to respond to the work	20%	
Past performance history for similar projects/services for KDOT	25%	

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all sub-consultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until March 14, 2024; answers will be provided to all prequalified consultants by March 21, 2024.

> Calvin Reed Secretary Department of Transportation

Doc. No. 051921

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to support our Wichita Communication and Integration. Interested consultants must submit a proposal as laid out herein by 12:00 p.m. Central Time March 27, 2024, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s):

• 163 – Congestion Management/ITS

If a firm is not currently prequalified by KDOT, the firm may still submit a proposal but must also provide documentation that demonstrates the firm is qualified (continued) for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form KDOT 1050–Consultant Qualification Questionnaire to provide this documentation. The KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Project Background

KDOT Bureau of Intelligent Transportation Systems (ITS) has approximately 150 ITS devices such as Dynamic Message Signs (DMS), CCTV Cameras, and traffic sensors/detectors in the Wichita, Kansas area. Many of these devices use KDOT's fiber optic network to communicate with the traffic management center (TMC) in Wichita. Some devices use cellular modem communications instead of fiber. KDOT requires troubleshooting assistance for communication and hardware issues. In addition, KDOT operates a truck parking availability system that uses IRIS software to communicate with truck parking signs and updates and maintains construction specifications for consistency and to reduce future maintenance issues.

This is a yearly contract which may be extended for up to four additional years.

Anticipated Consultant Scope

The project scope includes support on an as-needed basis via phone, email, and on-site to troubleshoot problems with cameras, signs, detectors, modems, and radios that prevent communication with central software and operations of those devices. Consultant will also assist with installation of test devices, inspection of field locations, evaluation of products, configuration of existing devices, evaluation of interoperability needs, and other project support as needed. Consultant will assist with monitoring and troubleshooting KDOT's Truck Parking Information Management System (TPIMS) and IRIS software maintenance. Consultant will also maintain and update ITS construction specifications as needed.

Provide a scope of services/proposal to perform the following tasks:

- 1. ITS troubleshooting services.
- 2. ITS construction support.
- 3. Truck parking information management system support.
- 4. Construction specification maintenance.
- Project management with bi-weekly updates/meetings.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) March 27, 2024.
- 2. Anticipated Start Date: July 1, 2024.
- 3. Anticipated Calendar Completion Date: June 30, 2025.
- Ranking of proposals is expected to occur on or around April 10, 2024.

5. Negotiations with the most highly ranked firm are expected to begin on or around April 15, 2024. An executed agreement is anticipated around May 31, 2024.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The PDF file name must read:
- a. "KA-1832-25 Wichita Communication Integration Support FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"); No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. All attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 1 below describes the expected proposal organization and content sections.
- 7. Table 2 lists the evaluation criteria and associated weights which will be used to make a selection.
- 8. Depending on the number and quality of responses received, KDOT anticipates shortlisting (based on proposals) and holding interviews prior to final selection (which may be based on both proposals and interview content). If KDOT deems them necessary, evaluation criteria for interviews will be distributed to shortlisted consultant teams in advance.

Table 1: Proposal Content

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will approach the project design efficiently and how your firm will approach the project integration and coordination efforts with KanDrive and KaITS. Include any unique, cost-effective, and/or optimized solutions planned for the design.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and the percentage of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.

Past Performance	Describe the team's past performance with respect to the ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe the team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 2: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Qualifications and experience of project manager and other key project team members proposed for services	25%
Proposed project approach	
Availability to respond to the work	20%
Past performance history for similar projects/services for KDOT	25%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all sub-consultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until March 14, 2024; answers will be provided to all prequalified consultants by March 21, 2024.

> Calvin Reed Secretary Department of Transportation

Doc. No. 051922

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm or team of firms to support and manage operations of the WICHway Statewide Traffic Management Center (TMC). Interested consultants must submit a proposal as laid out herein by 12:00 p.m. (Central Time) March 27, 2024, to be considered for selection.

Consultant Prequalification

Interested consulting firms must be prequalified by KDOT or otherwise demonstrate qualification in the following category(s): • 231 – Traffic Control Analysis and Design

If a firm is not currently prequalified by KDOT, the firm may still submit a proposal but must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form KDOT 1050–Consultant Qualification Questionnaire to provide this documentation. The KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Project Background

The Wichita TMC is located in Wichita, Kansas, co-located with Sedgwick County 911, and provides TMC functions such as sign and camera control, for both statewide devices and in the Wichita (WICHway) metro area. This contract is for engineering operations support and providing sufficient TMC operator positions (a minimum of one per shift) to provide 24/7 operator coverage and meet the operations objectives outlined in the scope below.

The contract will cover all operator staffing, training, management, and support (including up to four hours of support per month by a senior level engineer/principal). Workstations, phones, and computers will be supplied by KDOT, thus a field overhead rate would be expected for operators.

This is a yearly contract which may be extended for up to four additional years.

Anticipated Consultant Scope

Duties will be under the direction of the Buruea Chief of ITS and will include TMC operator staffing and management, day-to-day operations management, 24/7 phone support, Traffic Incident Management (TIM) training and coordination, performance measure reporting, assistance and coordination with ITS device/software integration and maintenance, and other functions necessary for efficient TMC operations to provide consistent sign messages and traveler information to the public.

Provide a scope of services/proposal to perform the following tasks:

- 1. Provide and train TMC operators for 24/7 coverage.
- 2. Manage TMC operators and day-to-day operations.
- 3. Provide 24/7 TMC 800 phone number.
- 4. Provide Traffic Incident Management (TIM) training and coordination with emergency responders (monthly and annual meetings) in the Wichita area.
- 5. Maintain TMC procedures to provide an efficient incident management program for the Wichita metro area.
- 6. Provide performance measure reports, cost/benefit analysis, annual reports and other TMC reporting as needed.
- 7. Support statewide road condition and incident data entry and monitor truck parking system as well as KDOT public websites including KanDrive.gov.

(continued)

- 8. Provide ITS support for KDOT district staff as needed.
- 9. Assist with communication integration and troubleshooting to ensure functionality of statewide and Wichita ITS devices and coordination with KDOT maintenance contractor.
- 10. Provide guest/partner tours.
- 11. Represent KDOT at industry meetings.
- 12. Attend meetings, review plans, and provide integration support for KDOT's ATMS software and support of ongoing software updates.
- 13. Perform other functions necessary for efficient TMC operation.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) March 27, 2024.
- 2. Anticipated Start Date: July 1, 2024.
- 3. Anticipated Calendar Completion Date: June 30, 2025.
- 4. Ranking of proposals is expected to occur on or around April 10, 2024.
- 5. Negotiations with the most highly ranked firm are expected to begin on or around April 15, 2024. An executed agreement is anticipated around May 31, 2024.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed 4 pages total (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The PDF file name must read:
- a. "KA-1832-25 Wichita Statewide (TMC) Operations and Support FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"); No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. All attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.
- 6. The outline in Table 1 below describes the expected proposal organization and content sections.
- 7. Table 2 lists the evaluation criteria and associated weights which will be used to make a selection.
- 8. Depending on the number and quality of responses received, KDOT anticipates shortlisting (based on proposals) and holding interviews prior to final selection (which may be based on both proposals and interview content). If KDOT deems them necessary,

evaluation criteria for interviews will be distributed to shortlisted consultant teams in advance. Table 1: Proposal Content

Section	Description of Intent
Cover Letter	(No more than 1 page)
Project Approach	Describe how your firm will approach the project design efficiently and how your firm will approach the project integration and coordination efforts with KanDrive and KaITS. Include any unique, cost-effective, and/or optimized solutions planned for the design.
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and the percentage of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.
Past Performance	Describe the team's past performance with respect to the ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.
Familiarity with KDOT and Project Area	Describe the team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.

Table 2: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Qualifications and experience of project manager and other key project team members proposed for services	25%
Proposed project approach	
Availability to respond to the work	20%
Past performance history for similar projects/services for KDOT	25%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all sub-consultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until March 14, 2024; answers will be provided to all prequalified consultants by March 21, 2024.

> Calvin Reed Secretary Department of Transportation

Doc. No. 051923

State of Kansas

Department of Transportation

Request for Proposals

Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking a qualified consulting firm, or team of firms, to perform construction inspection services on multiple projects in various counties. Summary information for each project is provided below in Table 1.

Interested consultants must upload a proposal by 12:00 p.m. (Central Time) March 27, 2024, to the Bid Express page to be considered for selection.

Consultant Prequalification

Consulting firms interested in providing service on any project listed below must be prequalified by KDOT in the following category(s):

• 241 – Construction Inspection and Testing

If a firm is not currently prequalified by KDOT, a proposal may still be submitted. Firms not prequalified

must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms must use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification Category Definitions (Blue Book) can be found at http://www.ksdot.org/descons. asp. Consultants may create a team to meet the prequalification requirements. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

Background and Scope of Projects

With this single solicitation, KDOT is requesting consulting services for construction inspections on the projects listed in Table 1. This table provides summary information for each project. One consultant will be selected to perform services associated with each group listed. Firms can express interest in the groups for which they would like to be considered by submitting a response as indicated below. There is no guarantee that a firm which has expressed interest will be selected for any project(s).

|--|

Group	RT-CO	Project #	Scope, County	Anticipated Start	Working Days or CCD	Office	Comments
24102	K099-099	KA-5728-01	Bridge Replacement, Wabaunsee	May 13, 2024	May 30, 2025	Wamego	
24104	K013-075	KA-4594-01	Bank Stabilization, Pottawatomie		50	Wamego	
	1070-089	KA-7198-01	Resurfacing, Shawnee	July 1, 2024	85	Topeka/ Emporia	Most likely night work. Tied to 70-89 KA 7239-01. Same Contractor as KA 7199/ KA 7240 jobs. This project is tentatively scheduled to follow KA 7199/KA 7240.
	1070-089	KA-7239-01	Resurfacing, Shawnee	July 1, 2024	85	Topeka/ Emporia	Most likely night work. Tied to 70-89 KA- 7198-01. Same Contractor as KA-7199/ KA-7240 jobs. This project is tentatively scheduled to follow KA-7199/KA-7240.
24105	I470-089	KA-7199-01	Resurfacing, Shawnee	May 6, 2024	65	Topeka/ Emporia	Most likely night work. Tied to 470- 89 KA-7240-01. Same Contractor as KA-7198/KA-7239 jobs. This project is tentatively scheduled to proceed KA- 7198/KA-7239.
	I470-089	KA-7240-01	Resurfacing, Shawnee	May 6, 2024	65	Topeka/ Emporia	Most likely night work. Tied to 470- 89 KA- 7199-01. Same Contractor as KA-7198/KA-7239 jobs. This project is tentatively scheduled to proceed KA- 7198/KA-7239.
	K009-062	KA-7083-01	Resurfacing, Mitchell	May 7, 2024	85	Belleville	
24201	K009-015	KA-7150-01	Resurfacing, Cloud	May 7, 2024	85	Belleville	
24202	-106	KA-7069-01	Resurfacing, Multiple	May 13, 2024	65	Junction City	
24202	K015-057	KA-7082-01	Resurfacing, Marion	April 12, 2024	55	Marion	
24203	-045	KA-7072-01	Resurfacing, Jewell	April 1, 2024	60	Belleville	
24303	U283-033	KA-7105-01	Resurfacing, Graham	May 15, 2024	30	Hays	
24307	K027-100	KA-5739-01	Grading, Bridge and Surfacing, Wallace	June 3, 2024	175	Oakley	
24304	U083-106	KA-5585-01	Intelligent Transportation System, Multiple	June 3, 2024	220	Oakley	(continued)

Group	RT-CO	Project #	Scope, County	Anticipated Start	Working Days or CCD	Office	Comments
	I070-097	KA-6942-01	Bridge Repair, Thomas	April 22, 2024	100	Atwood	
24305	I070-091	KA-6947-01	Bridge Repair, Sherman	April 22, 2024	100	Atwood	
24306	I070-098	KA-6951-01	Bridge Repair, Trego	May 1, 2024	90	Hays	
	U050-093	KA-7037-01	Resurfacing, Stafford	June 1, 2024	60	Pratt	
24503	U050-024	KA-7159-01	Resurfacing, Edwards	May 1, 2024	50	Pratt	
24504	U160-004	KA-7051-01	Resurfacing, Barber	July 29, 2024	30	Pratt	
	U160-013	KA-5757-01	Grading, Bridge, and Surfacing, Clark	April 29, 2024	145	Dodge City	
24605	U160-013	KA-5751-01	Grading, Bridge, and Surfacing, Clark	June 17, 2024	115	Dodge City	
24407	U054-037	KA-5760-01	Grading, Bridge, and Surfacing, Greenwood		185	Iola	
24106	U056-106	KA-7146-01	Resurfacing, Multiple	May 13, 2024	130	Olathe	
	U036-022	KA-6588-01	Resurfacing, Doniphan	May 6, 2024	35	Horton	
24107	K238-022	KA-7101-01	Resurfacing, Doniphan		15	Horton	Scheduled to follow project 36-22 KA- 6588-01
24108	K009-058	KA-7038-01	Resurfacing, Marshall	May 28, 2024	20	Wamego	

Additional project information including construction scope to be inspected, a detailed description of the project location, and resources and inspection scope specifically requested from consultants in this request can be viewed in an online table at https://ike.ksdot.gov/about/ construction-inspection-rfps. Upon publication of this Request for Proposals, KDOT anticipates each of these inspection efforts will require full teams (project manager and inspectors, as opposed to single role staff augmentation as is occasionally request) for various types of construction inspection except as noted in the table. Watch the website linked above for updated information. Tabulated information (both in this Request for Proposals and on the website) shall not be relied upon during inspections. It is provided for the convenience of consultants, specifically to aid in making decisions about which projects they are interested in performing.

Specific project needs are subject to modification and/ or cancellation at KDOT's discretion.

Anticipated Consultant Scope

The scope of construction inspection services and certifications required will vary for each project and are listed in the table available on the website noted above. Inspection efforts will be managed out of the offices listed. Also included for the convenience of consultants are indications of which grouped projects are currently slated to be performed by the same contractors.

Anticipated Schedule and Key Dates

- 1. Proposals are due by or before 12:00 p.m. (Central Time) March 27, 2024.
- 2. Ranking of proposals is expected to occur on or around March 28, 2024. Negotiations with the most

highly ranked firm are expected to begin on or around April 4, 2024. An executed agreement is anticipated shortly thereafter.

3. Anticipated scope starts dates and working days or anticipated calendar completion dates are shown in the table. All dates are subject to change.

Instructions for Proposal

- 1. No cost or pricing information shall be submitted with the proposal. Proposals including cost or pricing information will be considered non-responsive and withdrawn from further consideration.
- 2. The consultant's proposal must not exceed the page limit laid out in Table 2 below (including any cover letter, index, etc.). All pages shall be standard letter size (8.5" x 11"). Any page larger than standard letter size will be counted as two or more pages depending on size.
- 3. A single PDF (10MB maximum size) of the proposal including all attachments must be uploaded to the appropriate bid form on Bid Express by the proposal due date and time.
- 4. The proposal PDF file name must read:
 - a. "ConstInsp Multiple Projects_2024.03 Release FIRM NAME"
- 5. The proposal must be accompanied by Special Attachments No. 8 ("Tax Clearance Certificate"), No. 10 ("Policy Regarding Sexual Harassment"), and No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems"). If you need a Tax Clearance Certificate, you can request one at https://www.ksrevenue.gov/taxclearance. html. Allow 2-3 business days for processing. All

attachments are required for every firm involved in a multi-consultant team. Upload these files as instructed in Bid Express.

- 6. The outline in Table 2 below describes the expected proposal organization, content sections, and limits on number of pages.
 - a. Each team is limited to a single, one-page cover letter.
 - b. Consultants may indicate interest in any and all projects, indicate preference (s) for up to three projects, and shall both indicate interest and preferences on the "February 2024 Construction Inspections Interest & Preference Form is provided on the Bid Express page to complete and upload. Also, consultants are to use the bottom of that form to indicate any capacity limitations that need to be taken into account when making selections.
 - c. Thereafter, each team is limited to two pages per project in which they express interest. In these pages, consultants shall:
 - i. Describe the approach they plan to execute to deliver success on the project.
 - ii. Present the relevant qualifications and experience of the people they are proposing will provide the services.
 - iii. Provide the firm's familiarity with KDOT and the project area.
 - d. Finally, consultants are limited to a single, onpage descriptions of general qualifications ("Past Performance" selection plus "Approach to Quality Control" section) regardless of the number of projects in which they are expressing interest.
- 7. Table 3 lists the evaluation criteria and associated weights which will be used to make a selection.
- 8. Although not anticipated at this time, KDOT reserves the right to interview for the requested services associated with any of the listed projects prior to making final selections.

Table 2: Proposal Content

Section	Description of Intent	Page Limit
Cover Letter		1 Page
Consultant Project Interest and Preference	Fill out "March 2024 Construction Inspections Interest & Preference Form" and submit with your proposal.	1 Page
Project Approach	Describe how your firm will meet the fluctuating inspection needs of the project.	
Qualifications and Experience	For key personnel to be assigned to the project provide names, qualifications, education, training, and expertise. Identify their area(s) of responsibility and percent of their time dedicated to the project. List work for which you do not have in-house capability and name the firm you propose to subcontract with.	2 Pages per project in which team is interested
Familiarity with KDOT and Project Area	Describe team's familiarity with KDOT's inspection processes and standards. Describe familiarity with the project area and any identified special site conditions.	

Past Performance	Describe team's past performance with respect to ability to meet project schedules; quality of work; and ability to control costs on similar transportation projects, especially those performed for KDOT. Include three references and contact information.	1 Page total
Approach to Quality Control	Describe methods or procedures your firm will use to provide all services with professional quality and technical accuracy.	

Table 3: Evaluation Factors

Evaluation Factor	Weight
The quality and completeness of the response	10%
Availability to respond to the work	20%
Qualifications and experience of project manager and other key project team members proposed for services	20%
Past performance history for similar projects/services for KDOT	20%
Understanding of the project area	10%
Understanding of KDOT contract administration and closeout procedures	20%

Contract Terms and Conditions

A standard KDOT agreement for engineering and technical services will be used for professional services projects. The following special attachments will need to be provided by the selected consultant and all subconsultants with the signed work order following negotiations and will become attachments to the contract.

- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")
- Special Attachment No. 12 ("Certification of Company Not Currently Engaged in the Procurement or Obtainment of Certain Equipment, Services, or Systems")

Special Contract Conditions

Batch Request for Proposals

Questions

All questions regarding this Request for Proposals shall be submitted via Q&A section of bid form in Bid Express.

Questions can be submitted until March 14, 2024; answers will be provided to all prequalified consultants on March 21, 2024.

> Calvin Reed Secretary Department of Transportation

Doc. No. 051924

State of Kansas

Secretary of State

Notice of Forfeiture

In accordance with Kansas statutes, the following business entities organized under the laws of Kansas and the foreign business entities authorized to do business in Kansas were forfeited during the month of February (continued) 2024 for failure to timely file an annual report and pay the annual report fee.

Please Note: The following list represents business entities forfeited in February. Any business entity listed may have filed for reinstatement and be considered in good standing. To check the status of a business entity, go to the Kansas Business Center's Business Entity Search Station at https://www.kansas.gov/bess/flow/ main?execution=e2s4 (select Business Entity Database) or contact the Business Services Division at 785-296-4564.

Domestic Business Entities

A.J.'s Enterprises, Inc., Garden City, KS Andy's Home Service, LLC, Wichita, KS Apex Heat & Air, Inc., Coffeyville, KS Bee Curious Learning Collective Co., Andover, KS Berean Baptist Church of Wichita, Inc., Wichita, KS Bleckley Airport Memorial Foundation, Wichita, KS Bonanza Partners of KC, LLC, Shawnee Mission, KS C.W. Concrete, Inc., Olathe, KS Central Church of the Nazarene, Coffeyville, KS CGA Boosters, Inc., Topeka, KS Chapman Elementary School PTO, Inc., Chapman, KS Conveyors & Drives, Inc., Atlanta, GA D. Michelle Stewart Holdings, L.L.C., Overland Park, KS D. Michelle Stewart Management, L.L.C., Overland Park, KS D. Michelle Stewart, L.L.C., Overland Park, KS Derby United Sports Club, Derby, KS Experimental Aircraft Association Chapter 377, Scott City, KS Fotopoulos Farms, Inc., Dallas, TX Frontier Tools and Equipment, Inc., Lenexa, KS Golden Hills 2nd Addition Home Owners Association, Wichita, KS Gorillabird Foundation, Wichita, KS Guess & Co. Corporation Operations, Inc., Raleigh, NC Guessworks, Inc., Overland Park, KS Haivala Concrete Tools, Inc., Wichita, KS Healing Waters Wichita, LC, Cumming, GA Healing Waters, LC, Cumming GA Hernandez Logistics, LLC, Olathe, KS Hutchinson Salthawks Baseball Club, Hutchinson, KS Igotcars Kansas, LLC, Houston, TX Institute for Advanced Islamic Knowledge (IAIK), Towanda, KS Jae's Motors, Inc., Manhattan, KS Jerry D. Guess Management Co, L.L.C., Overland Park, KS Jerry D. Guess, L.L.C., Topeka, KS Jewell Sol Provisions, Inc., Kansas City, KS Johnson Brothers Construction, Inc., Wellington, KS Junior League of the Flint Hills, Inc., Manhattan, KS Kansas Consumer Council, Inc., San Diego, CA KC Connect Physical Therapy, LLC, Lake Winnebago, MO Khanh's Home Service, LLC, Wichita, KS Longevity Trust, Inc., Manhattan, KS Major Enterprises, Inc., Wichita, KS Miami Memorial Gardens, Inc., Osawatomie, KS MIT Investments, Inc., Wichita, KS National Charity League, Inc., Heart of Kansas City Chapter, Overland Park, KS Nava Cleaning Co., Olathe, KS NOP Industries, Inc., Manhattan, KS Northern Flint Hills Audubon Society, Inc., Manhattan, KS Numerical Control Support, Inc., Shawnee Mission, KS Pink Nails & Spa, LLC, Derby, KS Randy Burns Trucking & Harvesting, Inc., Cimarron, KS Rochelle Walsh, LSCSW, LLC, Topeka, KS Sanoascsouth, LLC, Overland Park, KS Sarahs Remarkable Items Limited, Wichita, KS Sigma Kappa Theta Tau Parents Club, Overland Park, KS TAAT, Inc., Hugoton, KS The Church of Emmanuelism, Inc., Overland Park, KS The Jerry D. Guess Philanthropic Foundation, Inc., La Vista, NE The Maur Hill Prep School Endowment Association, Inc., Atchison, KS Theta Tau Chapter House Corporation of Sigma Kappa Sorority, Carmel, IN

Tri-Porta Lift, Ltd., Newton, KS Tru Community Church, Saint George, KS Tyler Family Association Shelby, Township, MI United Auto Sales, Inc., Manhattan, KS University of Kansas Powerlifting Club, Lawrence, KS VC Hornet Hustle Fund, Valley Center, KS Wellsville Elementary PTO, Inc., Wellsville, KS Wilshire by the Lake, LLC, Leawood, KS Windwalkers K9 Search and Rescue, Inc., Pratt, KS World Redemption Christian Church, Inc., Wichita, KS

Foreign Business Entities

All Rise Records, Inc., Yorba Linda, CA Ark Covering & Restoration, LLC, Nicholasville, KY Barsto Construction, Inc., Lenexa, KS Chimienti & Associates, Iselin, NJ Coversa, Kansas City, MO EVCO National, Inc., East Alton, IL HFMA: Sunflower (Kansas) Chapter, Downers Grove, IL Hurst's Diamond Shop, Inc., Raymore, MO Indian Motorcycle Company, Medina, MN J.D.G. Management Capital Holdings, Inc., Topeka, KS John Hardy USA, Inc., New York, NY Life Action Ministries, Buchanan, MI National Coating Contractors, LLC, Lexington, OK RB Towing & Recovery, LLC, Amsterdam, MO Royal Cup, Inc., Birmingham, AL Sigma Kappa National Housing Corporation, Carmel, IN The Golf Warehouse, LLC, Wichita, KS Voyager Digital, LLC, Miami, FL

> Scott Schwab Secretary of State

Doc. No. 051942

State of Kansas

Office of the Governor

Executive Order 24-01 Proclaiming States of Drought for Kansas Counties

WHEREAS, the Director of the Kansas Water Office has informed me, pursuant to K.S.A. 74-2608, of drought conditions within the state;

WHEREAS, there is every indication that drought conditions are present across the state;

WHEREAS, the Kansas Emergency Management Act (K.S.A. 48-924, et seq.) states that the Governor shall be responsible for meeting the dangers to the state and its people from disasters, and specifically authorizes drought proclamations such as this to address drought conditions; and

WHEREAS, Director of the Kansas Water Office, in consultation with the Governor's Drought Response Team, is authorized to upgrade a county to emergency status, as the need arises;

NOW, THEREFORE, pursuant to the authority vested in me as Governor of the State of Kansas and K.S.A. 48-924(e), I hereby:

- 1. Declare a Drought Watch, Drought Warning or Drought Emergency for the counties below:
 - a. <u>Drought Watch counties</u>: Allen, Anderson, Atchison, Barton, Bourbon, Brown, Butler, Chase, Cherokee, Cheyenne, Cloud, Coffey, Cowley, Crawford, Decatur, Doniphan, Douglas, Ellis, Ellsworth, Franklin, Geary, Gove, Greenwood,

276

Jackson, Jefferson, Johnson, Kingman, Labette, Lane, Leavenworth, Lincoln, Linn, Lyon, Marion, Marshall, Miami, Morris, Nemaha, Neosho, Ness, Norton, Osage, Phillips, Pottawatomie, Pratt, Rawlins, Republic, Riley, Russell, Saline, Sedgwick, Shawnee, Sheridan, Sherman, Smith, Stafford, Thomas, Trego, Wabaunsee, Washington, Woodson, Wyandotte.

- b. <u>Drought Warning counties</u>: Chautauqua, Clay, Dickinson, Elk, Graham, Harvey, Jewell, McPherson, Mitchell, Montgomery, Osborne, Ottawa, Reno, Rice, Rooks, Wilson.
- c. Drought Emergency counties: None
- 2. Authorize and direct all agencies under the jurisdiction of the Governor to implement the appropriate Watch, Warning or Emergency level drought response actions assigned to them in the Operations Plan of the Governor's Drought Response Team.
- 3. Order that county drought stages declared in the Executive Order shall remain in effect until revised or rescinded by a subsequent Executive Order.
- 4. Rescind Executive Order 23-04 upon Executive Order 24-01 becoming effective.

This document shall be filed with the Secretary of State as Executive Order 24-01 and shall become effective immediately.

Dated March 6, 2024.

Laura Kelly Governor

Doc. No. 051948

State of Kansas

Legislative Administrative Services

Legislative Bills and Resolutions Introduced

The following numbers and titles of bills and resolutions were introduced February 29th – March 6th during the 2024 session of the Kansas Legislature. Full text of bills, bill tracking, and other information may be accessed at http://www.kslegislature.org/li/.

House Bills

HB 2816, AN ACT concerning agriculture; relating to the farm animal and field crop and research facilities protection act; prohibiting entering or remaining on and knowingly making false statements to gain access to animal facilities and field crop production areas; providing penalties for violations therefor; removing the intent to destroy property; amending K.S.A. 47-1826 and 47-1827 and repealing the existing sections, by Committee on Appropriations.

HB 2817, AN ACT concerning wildlife; relating to controlled shooting areas; removing the maximum fee amount for controlled shooting area operator licenses; allowing the secretary of wildlife and parks to adjust such license fee amount on an annual basis to cover any projected loss of revenue caused by an enactment concerning wildlife fees by the legislature during the current or previous fiscal year; amending K.S.A. 2023 Supp. 32-988 and repealing the existing section, by Committee on Appropriations.

HB 2818, AN ACT concerning the legislature; relating to legislation pertaining to occupational regulation; providing for a review process and evaluation criteria for the legislature when considering bills that propose new or additional occupational regulation; requiring regulatory entities at the direction of the joint committee on administrative rules and regulations to provide a report to the legislature to inform the

legislature's consideration of such proposals; authorizing the joint committee to contract for such a report when necessary; amending K.S.A. 2023 Supp. 77-436 and repealing the existing section, by Committee on Federal and State Affairs.

Senate Bills

SB 534, AN ACT concerning criminal procedure; relating to execution of death sentences; requiring the secretary of corrections to select the method of carryout of a sentence of death by hypoxia; requiring the district court to send the secretary a warrant commanding the secretary to proceed to carry out a sentence of death within 30 days after judgment is final; amending K.S.A. 22-4001 and 22-4013 and repealing the existing sections, by Committee on Federal and State Affairs.

SB 535, AN ACT concerning gaming; relating to certification of gaming suppliers by the Kansas racing and gaming commission; exempting certain suppliers from such certification requirements; amending K.S.A. 2023 Supp. 74-8751 and repealing the existing section, by Committee on Federal and State Affairs.

SB 536, AN ACT concerning taxation; relating to the local ad valorem tax reduction fund; requiring political subdivisions to adopt a budget that remains at or below revenue neutral and use funds to reduce property tax in order to receive fund distributions; amending K.S.A. 79-2960 and 79-2961 and repealing the existing sections, by Committee on Assessment and Taxation.

SB 537, AN ACT concerning sales and compensating use tax; relating to city and countywide retailers' sales tax; providing countywide retailers' sales tax authority for Neosho county for purposes of roadway and bridge construction, maintenance and improvement; amending K.S.A. 2023 Supp. 12-187, 12-189 and 12-192 and repealing the existing sections, by Committee on Assessment and Taxation.

Senate Resolutions

SR 1744, A RESOLUTION designating April 24 as Ad Astra STEM Day to celebrate scientific achievement across the state of Kansas, by Senator O'Shea.

Doc. No. 051958

State of Kansas Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 9:00 a.m. Friday, March 29, 2024, in the offices of the Kansas Development Finance Authority (KDFA), 534 S. Kansas Ave., Suite 800, Topeka, Kansas, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

Project No. 001131 Maximum Principal Amount: \$589,000. Owner/Operator: Robert J. Peeks; Description: Acquisition of 133 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Robert J. Peeks (the "Beginning Farmer") and is located in the Southeast Quarter of Section 15, Township 2, Range 6, Marshall County, Kansas, approximately 1.5 miles south and 1 mile west of Herkimer, Kansas. (continued) The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

Interested individuals may participate in the public hearing in person or via conference call. Please call 844-621-3956 and use conference identification number 145 880 8929 followed by # to join the conference.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, KS 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

> Rebecca Floyd President Kansas Development Finance Authority

Doc. No. 051943

(Published in the Kansas Register March 14, 2024.)

Shawnee County, Kansas

Notice of Meeting and Hearing

Notice is hereby given that the Board of County Commissioners of Shawnee County, Kansas, will conduct a meeting and public hearing at 9:00 a.m. Thursday, March 21, 2024, in the Commission Chambers, Shawnee County Commission Office, 707 SE Quincy St., Topeka, Kansas, concerning the issuance by Shawnee County, Kansas (the "County") of its Single Family Mortgage Revenue Bonds (Mortgage-Backed Securities Program), 2024 Series A (Non-AMT), in a principal amount not to exceed \$20,000,000 (the "Bonds").

The proceeds of the Bonds will be utilized (i) to purchase securities backed by residential mortgage loans made to qualified persons and families of low and moderate income residing within the Program Area (as defined below), and/or (ii) to provide funds to qualified persons and families of low and moderate income residing within the Program Area to be applied to the payment of downpayment or closing costs in connection with a residential mortgage loan.

The "Program Area" includes the unincorporated areas of the County, as well as the Kansas cities listed below and the unincorporated areas of the Kansas counties listed below, to the extent such cities and counties have entered into cooperation agreements with the County:

Cities

Abilene, Alma, Altamont, Americus, Andale, Andover, Argonia, Arkansas City, Atchison, Auburn, Augusta, Baldwin City, Basehor, Baxter Springs, Bel Aire, Belle Plaine, Beloit, Bentley, Benton, Bird City, Bronson, Buffalo, Buhler, Burlingame, Burrton, Caldwell, Caney, Canton, Carbondale, Carlton, Chapman, Cheney, Cherryvale, Cimarron, Bonds

Circleville, Claflin, Clay Center, Clearwater, Clyde, Coffeyville, Colby, Columbus, Colwich, Concordia, Conway Springs, Copeland, Council Grove, Dearing, Deerfield, Delia, Delphos, Derby, Dexter, Dighton, Dodge City, Douglass, Edgerton, El Dorado, Ellinwood, Ellis, Ellsworth, Elwood, Emporia, Ensign, Enterprise, Erie, Eudora, Frontenac, Fulton, Garden City, Garden Plain, Gardner, Girard, Glen Elder, Goddard, Goessel, Goodland, Grainfield, Great Bend, Gypsum, Halstead, Haven, Hays, Haysville, Herington, Hesston, Hiawatha, Highland, Hill City, Hillsboro, Hoisington, Holcomb, Holton, Howard, Hoyt, Hudson, Humboldt, Hutchinson, Inman, Iola, Jetmore, Johnson City, Junction City, Kechi, Kingman, Kiowa, LaCrosse, LaHarpe, Larned, Lawrence, Lebo, Lecompton, Lenexa, Leon, Leoti, Liberal, Lindsborg, Linn Valley, Logan, Louisburg, Lyndon, Lyons, Madison, Maize, Manchester, Manhattan, Maple Hill, Marion, Marquette, Marysville, Mayetta, McLouth, McPherson, Melvern, Meriden, Milford, Minneapolis, Mission, Montezuma, Morganville, Moscow, Mound City, Moundridge, Mount Hope, Mulvane, Neodesha, New Cambria, Newton, Nickerson, North Newton, Oakley, Ogden, Olathe, Onaga, Osage City, Oskaloosa, Ottawa, Overbrook, Overland Park, Oxford, Park City, Parsons, Paxico, Peabody, Plainville, Prairie Village, Pratt, Prescott, Pretty Prairie, Quenemo, Randolph, Rose Hill, Rossville, Russell, Sabetha, Salina, Scott City, Scranton, Sedan, Sedgwick, Shawnee, Silver Lake, Smith Center, Smolan, Solomon, South Haven, St. George, St. Marys, Sterling, Stockton, Strong City, Sublette, Tescott, Thayer, Tonganoxie, Topeka, Towanda, Udall, Ulysses, Uniontown, Valley Center, Victoria, Viola, Wakeeney, Wakefield, Walton, Wamego, Washington, Wathena, Weir, Wellington, Westwood, Whitewater, Wichita, Willard, Williamsburg, Winfield, Yates Center.

Counties (unincorporated areas only)

Barton, Bourbon, Butler, Chautauqua, Clay, Cloud, Cowley, Crawford, Dickinson, Doniphan, Ellis, Ellsworth, Finney, Ford, Geary, Gove, Grant, Greenwood, Harvey, Jackson, Kingman, Kiowa, Labette, Logan, Marion, Marshall, McPherson, Montgomery, Morris, Nemaha, Osage, Ottawa, Pawnee, Pottawatomie, Reno, Rice, Saline, Sedgwick, Sherman, Sumner, Wabaunsee, Washington, Wichita.

The proposed Bonds are, pursuant to K.S.A. 12-5219 et seq., special limited obligations of the County payable solely from mortgage payments and prepayments and revenues due from the mortgagors, and the Bonds are not payable from taxation in any manner and shall not constitute a debt of the County, the state of Kansas or any political subdivision thereof, within the meaning of any constitutional or statutory provision and are not payable from any manner of taxation.

All persons having an interest in the subject matter of the hearing will be given an opportunity to be heard at the time and place specified above. Written comments may also be submitted to the County Clerk, 200 SE 7th St., Room 107, Topeka, KS 66603, prior to the hearing.

Dated March 11, 2024.

Cynthia A. Beck County Clerk Shawnee County, Kansas

Doc. No. 051949

(Published in the Kansas Register March 14, 2024.)

City of Lawrence, Kansas

Summary Notice of Bond Sale \$16,305,000* General Obligation Improvement Bonds Series 2024-A

(General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

Bids

Subject to the Notice of Sale dated on or about March 21, 2024 (the "Notice"), electronic bids will be received on behalf of the Clerk of the City of Lawrence, Kansas (the "Issuer") through PARITY® or via email to the Municipal Advisor at bids@bakertilly.com until 10:00 a.m. (Central Time) April 2, 2024, for the purchase of the above-referenced bonds (the "Bonds"). No bid for less than 98.90% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated April 25, 2024, and will become due on September 1 in the years as follows:

Maturity Date (Sept. 1)	Principal Amount*	Maturity Date (Sept. 1)	Principal Amount*
2025	\$625,000	2035	\$685,000
2026	815,000	2036	705,000
2027	840,000	2037	725,000
2028	860,000	2038	745,000
2029	890,000	2039	775,000
2030	880,000	2040	745,000
2031	905,000	2041	770,000
2032	925,000	2042	800,000
2033	950,000	2043	830,000
2034	975,000	2044	860,000

* Preliminary; subject to change.

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on March 1 and September 1 in each year, beginning on March 1, 2025.

Book-Entry-Only System

The Bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

Good Faith Deposit

The successful bidder for the Bonds shall submit a good faith deposit in the form of a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of 2% of the principal amount of the Bonds in the manner that complies with the requirements set forth in the Notice.

Delivery

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about April 25, 2024, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2023 was \$1,524,908,852. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds and temporary notes being sold contemporaneously with the Bonds, but excluding any temporary notes to be paid off with the proceeds thereof, is \$165,137,000.

Approval of Bonds

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Kansas City, Missouri, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

Additional Information

Additional information regarding the Bonds may be obtained from the undersigned Municipal Advisor or Finance Director at the addresses set forth below.

Municipal Advisor

Baker Tilly Municipal Advisors, LLC Attn: Bond Services 30 E. Seventh St., Suite 3025 Saint Paul, MN 55101 651-223-3000 bids@bakertilly.com

Dated March 21, 2024.

City of Lawrence, Kansas Alley Porter Interim Finance Director City Hall 6 E. 6th St. Lawrence, S 66044 785-832-3214 aporter@lawrenceks.org

Doc. No. 051947

State of Kansas

Board of Emergency Medical Services

Permanent Administrative Regulation

Article 2. – AMBULANCE SERVICES; PERMITS AND REGULATIONS

109-2-2. Application for ambulance service permit and ambulance license; permit renewal and license renewal. (a)(1) Any applicant for an ambulance service permit may apply for only one ambulance service permit for each ambulance service that the applicant seeks to operate.

(2) Any applicant for an ambulance license may apply for only one ambulance license for each ambulance that the applicant seeks to operate.

(continued)

(3) Any operator may apply for a temporary license for an ambulance. Each temporary license shall be valid for 60 days. Any temporary license may be extended by the executive director.

(b) All initial and renewal applications for an ambulance service permit and for an ambulance license shall be submitted through the online license management system.

(c) Each applicant who submits an insufficient application for an ambulance service permit or ambulance license shall have 30 days to correct all identified deficiencies and submit a sufficient application. If the applicant or operator fails to correct the deficiencies and submit a sufficient application, the application may be considered by the board as withdrawn.

(d) Each application shall be deemed sufficient if both of the following conditions are met:

(1) The applicant or operator submits all requested information, and no additional information is required by the board to complete the processing of the application.

(2) The applicant or operator submits payment of the fee in the correct amount.

(e) Each initial application for an ambulance service permit shall meet the following requirements:

(1) Specify the name of the operator;

(2) specify the name of the ambulance service;

(3) designate an ambulance service director;

(4) designate a medical director;

(5) designate an office address where all ambulance service records will be maintained;

(6) state the primary territory for which the permit is sought;

(7) designate the type of ambulance service being requested as either ground ambulance service or air ambulance service;

(8) designate the levels of service intended to be provided;

(9) include a copy of all operational policies;

(10) include a copy of all approved medical protocols;

(11) include a listing of all EMS providers and health care providers affiliated with the ambulance service;

(12) include a listing of all station locations where an ambulance could be parked or stored;

(13) provide the location and physical description of the facility where calls for service will be received;

(14) provide a description of each vehicle being used by the ambulance service to include the year, make, and model of the vehicle, and the primary use of the vehicle; and

(15) if the type of ambulance service being requested is for an air ambulance service, provide evidence of an air safety training program and an informational publication that meets all requirements of K.A.R. 109-2-10a.

(f) Each initial application for a ground ambulance license shall include the following:

(1) A copy of the mechanical or safety inspection without deficiencies submitted on forms required by the board or documentation from the manufacturer indicating that the vehicle has undergone a predelivery inspection without deficiencies;

(2) proof of state vehicle registration; and

(3) a copy of the list of supplies and equipment carried on the ambulance as approved by the medical director. (g) Each initial application for an air ambulance license shall include the following:

(1) A copy of the valid standard airworthiness certificate;

(2) proof of aircraft registration with the federal aviation administration; and

(3) a copy of the list of supplies and equipment carried on the ambulance as approved by the medical director.

(h) Each ambulance service permit and ambulance license that is not temporary shall expire on April 30 of each year. Any such permit or license may be renewed annually in accordance with this regulation.

(i) Each renewal application for an ambulance service permit shall meet the following requirements:

(1) The operator shall affirm that the following information is current and accurate:

(A) Name of the ambulance service;

(B) personnel affiliated with the ambulance service, including the service director, medical director, EMS providers, and health care providers;

(C) office address where all ambulance service records shall be maintained;

(D) levels of service being provided;

(E) ambulance service's operational policies;

(F) ambulance service's approved medical protocols;

(G) description of all vehicles being used by the ambulance service to include the year, make, and model of the vehicle, and the primary use of the vehicle;

(H) all station locations where the ambulance service's ambulances could be parked or stored;

(I) location and physical description of the facility where calls for service will be received;

(J) the entry of all requests for service for the previous calendar year into the board's data collection system; and

(K) for an air ambulance service, the ambulance service's air safety training program and informational publication.

(2) The operator shall provide the following emergency medical service information to the board:

(A) The gross receipts received by the ambulance service during the previous calendar year from the provision of patient care;

(B) the ambulance service operating budget and, if any, the tax subsidy;

(C) the charge for emergency and nonemergency patient transports, including mileage fees;

(D) the number of full-time, part-time, and volunteer staff; and

(E) the odometer reading for each vehicle being used by the ambulance service.

(j) Each application for renewal of an ambulance license shall meet the following requirements:

(1) The operator shall affirm that the following information is current and accurate:

(A) List of supplies and equipment carried on the ambulance; and

(B) the primary location where the ambulance is parked or stored.

(2) For a ground ambulance, the application shall include both of the following:

(A) Proof of valid state vehicle registration if not permanently registered; and

(B) proof of a mechanical and safety inspection completed after November 1 indicating no deficiencies that would compromise the safe transport of patients.

(3) For an air ambulance, the application shall include proof of valid aircraft registration with the federal aviation administration.

(k) A mechanical and safety inspection for each ground ambulance shall be completed by a person doing business as or employed by a vehicle maintenance service or from a certified mechanic as defined in K.A.R. 109-1-1. Proof of this inspection shall be demonstrated by submitting one of the following:

(1) A completed mechanical and safety inspection form, as provided by the board; or

(2) documentation of regular service and preventative maintenance equivalent to or exceeding the requirements of the mechanical and safety inspection form provided by the board. (Authorized by K.S.A. 2023 Supp. 65-6110 and 65-6111; implementing K.S.A. 2023 Supp. 65-6110, K.S.A. 2023 Supp. 65-6127, and K.S.A. 65-6128; effective May 1, 1985; amended July 17, 1989; amended Jan. 31, 1997; amended Dec. 29, 2000; amended Jan. 27, 2012; amended Jan. 3, 2014; amended April 29, 2016; amended March 29, 2024.)

Joseph House Executive Director Board of Emergency Medical Services

Doc. No. 051959

State of Kansas

State Fire Marshal

Permanent Administrative Regulations

Article 8.—LIQUEFIED PETROLEUM GASES

22-8-5. Application and drawings. (a) Each LP gas marketer who wants to construct an LP gas facility or make a major modification to an existing liquefied petroleum gas facility shall submit an application, on a form provided by the state fire marshal's office, with drawings to the state fire marshal's office as specified in this regulation. If required, the marketer shall send a copy of the drawings to the local authority having jurisdiction before the marketer begins the construction or a major modification.

(b) Each application shall be accompanied by drawings, which shall be made to scale on paper no larger than 11 inches by 17 inches. The tank drawings and site plan shall be clear and readable and shall show all dimensions. The applicant shall submit the application and drawings and shall obtain approval from the state fire marshal before the construction of, or any major modification to, any of the following:

(1) Any bulk storage or transfer facility with an aggregate water capacity of more than 2,000 gallons;

(2) any tank installed for the retail sale of LP gas through dispenser devices;

(3) any portable cylinder storage and filling facility;

(4) any vehicle fuel dispensing station;

(5) any facility where the handling or use of liquefied petroleum gas is undertaken; or

(6) any liquefied petroleum gas service station.

(c) The construction or major modification of any liquefied petroleum gas facility with an aggregate water capacity exceeding 2,000 gallons shall not commence until the application and drawings are reviewed and approved by the state fire marshal.

(d) The requirement to submit drawings for approval shall be in addition to any local jurisdiction's zoning or permit approval requirements and any additional local requirements.

(e) All submitted drawings shall include the following information:

(1) The name of the person, firm, or corporation planning the new or modified LP gas facility, the location of the proposed facility, and the location of the adjacent streets or highways;

(2) for bulk plants, the location of the plot of ground to be utilized and its immediate surroundings, including any structures of value located on adjacent properties within 100 feet of the property line on all sides, and the complete layout of the buildings, tanks, point-of-transfer operations, driveways, and dispensing equipment;

(3) the location, capacity, and dimensions of each tank; the types, sizes, and locations of all valves, including hydrostatic relief and emergency shutoff valves; the location of all lines and pumps; the location of the plot of ground to be utilized; and the complete layout of the buildings, driveways, and dispensing equipment;

(4) the type, size, and location of all appliance piping located below ground and connected to aboveground equipment;

(5) for underground storage, the location and capacity of each tank, the class and name of the liquid to be stored in each tank, and the location of the fill openings, gauges, vent pipes, valves, and regulators; and

(6) all details specifically requested in the application. (Authorized by and implementing K.S.A. 55-1810; effective, E-82-28, Dec. 22, 1981; effective May 1, 1982; amended May 1, 1983; amended March 31, 2006; amended March 29, 2024.)

Article 18. – EDUCATIONAL OCCUPANCIES

22-18-2. Fire drills, tornado drills, and crisis drills in public and private educational institutions. (a) Each administrator of a public or private educational institution, except a community college, college, or university, shall conduct at least four fire drills each school year. Each fire drill shall be conducted during school hours at a time other than the regular dismissal time at the close of the day's session. Each fire drill shall be unannounced and shall be conducted by the use of the regular fire alarm system. Each fire drill shall include all floors, wings, and sections of each building. Each person shall vacate the building they are occupying during the fire drill, and teachers and administrators shall accompany their pupils from the buildings and account for each pupil within their authority. Each administrator of a public or private educational institution or a school district shall ensure that the fire drills are con-(continued) ducted and that accurate records of the drills are kept on forms provided by the state fire marshal and posted in a conspicuous location.

(b) Each administrator of a public or private educational institution, except a community college, college, or university, shall conduct at least two tornado drills during each school year. Each tornado drill shall be conducted during school hours at a time other than the regular dismissal time at the close of the day's session. Each tornado drill shall be unannounced and shall be conducted using a means of alerting that is different from the fire alarm and crisis alarm. Each tornado drill shall include all floors, wings, and sections of each building, and each person in the building shall take refuge in a designated tornado safety area. An administrator shall determine the areas to be used for tornado refuge and shall work with the local emergency management coordinator or emergency manager, in locales where one is available, to establish tornado safety procedures. Each superintendent of a public or private educational institution or a school district shall ensure that the tornado drills are conducted and that accurate records of the drills are kept on forms provided by the state fire marshal and posted in a conspicuous location.

(c) Each administrator of a public or private school, except a community college, college, or university, shall conduct at least three crisis drills during each school year. Each crisis drill shall be conducted during school hours at a time other than the regular dismissal time at the close of the day's session. Each crisis drill shall be unannounced and shall be conducted using a means of alerting that is different from the fire and tornado alarms. Each crisis drill shall include all floors, wings, and sections of the building.

(d) Upon written request from an administrator pursuant to K.S.A. 31-136 and amendments thereto, a variance in the number or manner of drills conducted pursuant to this regulation may be granted by the state fire marshal for students receiving special education or related services at that school. (Authorized by and implementing K.S.A. 31-133; effective May 1, 1979; amended March 29, 2024.)

22-18-3. Construction requirements for school buildings. (a) The construction of each school building shall meet the requirements of the international building code, which is adopted by reference in K.A.R. 22-1-3. All electric wiring shall conform to the requirements of the national electric code of the national fire protection association, which is adopted by reference in K.A.R. 22-1-3.

(b) The construction of each mobile, modular, portable, or relocatable school building shall meet the requirements of the life safety code, which is adopted by reference in K.A.R. 22-1-3. (Authorized by and implementing K.S.A. 31-133, 31-150; effective Sept. 17, 1990; amended May 10, 1993; amended Feb. 4, 2011; amended March 29, 2024.)

State of Kansas

Secretary of State

Temporary Administrative Regulation

Article 47. – ELECTION AUDITS

7-47-1. Postelection audit implementation. The requirements of this regulation shall not apply to local question elections or mail-ballot elections pursuant to K.S.A. 25-431 through 25-441 and amendments thereto.

(a) As used in K.S.A. 25-3009 and amendments thereto, the term "unofficial election night returns" shall include ballots cast and counted on election day, ballots cast in advance and counted on election day, and ballots cast by means of the uniformed and overseas citizens absentee voting act (UOCAVA) procedures and counted on election day. This term shall not include any ballots cast that are challenged or marked as provisional or any ballots that are cast in advance and received after election day.

(b) Each county election officer shall complete the training provided by the secretary of state. As specified in K.S.A. 25-3009 and amendments thereto, each county election officer shall provide training to the election board conducting the postelection audit. The training shall include the identification of voter intent specific to the vote-casting technologies in use across Kansas.

(c)(1) An auditable race and precinct shall be a race and precinct meeting the requirements in K.S.A. 25-3009, and amendments thereto, for an audit to be conducted. The random selection of races and precincts shall take place in a public setting, and the procedure to randomize the selection of races and precincts shall be determined solely by each county election officer and the secretary of state but must use a physical random method and not an electronic random number generator. Upon completion of the audit, each election board shall transmit to the secretary of state and the county election office the results of the audit no later than 48 hours before the meeting of the county board of canvassers.

(2) In even-year elections, within 24 hours of the closing of the final polling location in Kansas, the list of randomly selected races to be audited shall be transmitted by the secretary of state to each county election officer. Each county election officer shall examine each race in the order specified until an auditable race is determined. Each county election officer shall then randomly select one percent of the total county precincts from the subset of auditable precincts. If no contested race exists, the election board shall audit the first race listed.

(3) In odd-year elections, each county election officer shall randomly select the races and then each precinct to be audited.

(d) Ballot images may not be used for the manual audit. (Authorized by and implementing K.S.A. 2023 Supp. 25-3009 and K.S.A. 2023 Supp. 25-2912; effective, T-7-6-26-19, June 26, 2019; effective Sept. 27, 2019; amended Oct. 13, 2023; amended T-7-3-5-24, March 5, 2024.)

Scott Schwab Secretary of State

Doc. No. 051961

© Kansas Secretary of State 2024

Mark Engholm

State Fire Marshal

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3772. "Super Red Hot Crossword" instant ticket lottery game number 387. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Super Red Hot Crossword." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3772.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Prize Symbols	Captions
\$5.00	FIVE\$
$10^{.00}$	TEN\$
15.00	FIFTEEN
20.00	TWENTY
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN

Play Symbols

ŀ	ſ

<i>y</i>	10	
А		
В		
С		
D		
Е		
F		
G		
Н		
Ι		
J		
K		
L		
M		
N		
0		
O P		
Q		
R		
S		
S T		
Í.		
U V		
Ŵ		
X		
Y		
Z		
2		

(c) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(d) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(e) "Super Red Hot Crossword" will feature four separate play areas: "YOUR LETTERS," two "CROSSWORD" puzzles, and a "BONUS" area. The top puzzle grid will be imaged in black. The bottom puzzle grid will be imaged in red.

In the "CROSSWORD" puzzles, the player will scratch the "YOUR LETTERS" play area to reveal 20 "YOUR LETTERS." Each of the "YOUR LETTERS" may be used in both "CROSSWORD" puzzles. A player matches the corresponding letters in both "CROSSWORD" puzzles by removing the translucent scratch-off material covering the matching letter. If a player scratches a total of four or more completed words across both puzzles, the player wins the corresponding prize in the prize legend. The entire word must be uncovered to win the corresponding prize. Only the highest corresponding prize can be won.

In the "BONUS" play area, if a player reveals two matching prize symbols, the player wins that amount instantly. A player can win once in this game play area.

The following prize legend will be displayed on the ticket:

FIND	WIN
4 black words	Free Ticket
2 black words + 2 red words	\$5
4 red words	\$10
5 black words	\$20
3 black words + 2 red words	\$25
2 black words + 3 red words	\$50
6 black words	\$100
4 black words + 2 red words	\$200
3 black words + 3 red words	\$1,000
2 black words + 4 red words	\$5,000
6 red words	\$50,000

(f) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

(1) must contain at least three letters;

(2) cannot be formed diagonally, run right to left or from bottom to top;

(3) must appear in an unbroken horizontal or vertical string of letters in the "CROSSWORD" puzzle;

(4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;

(5) every single letter in the unbroken string must be revealed in the "YOUR LETTERS" area and be included to form a word.

(g) Each ticket in this game may win up to two times.

(h) Approximately 1,500,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

			Winners Per	
Crossword	Bonus	Prize	1,500,000	Prize Cost
\$5 FREE TICKET		\$5	250,000	\$1,250,000
\$5		\$5	47,850	\$239,250
\$10		\$10	28,500	\$285,000
	\$10	\$10	8,000	\$80,000
				(continued)

\$5	\$5	\$10	10,000	\$100,000
\$20		\$20	14,500	\$290,000
	\$20	\$20	6,500	\$130,000
\$10	\$10	\$20	6,500	\$130,000
\$25		\$25	7,950	\$198,750
	\$25	\$25	5,650	\$141,250
\$10	\$15	\$25	5,500	\$137,500
\$50		\$50	7,000	\$350,000
	\$50	\$50	4,450	\$222,500
\$25	\$25	\$50	4,500	\$225,000
	\$75	\$75	1,000	\$75,000
\$50	\$25	\$75	1,000	\$75,000
\$100		\$100	3,620	\$362,000
	\$100	\$100	1,000	\$100,000
\$50	\$50	\$100	2,250	\$225,000
\$200		\$200	190	\$38,000
\$1,000		\$1,000	125	\$125,000
\$5,000		\$5,000	30	\$150,000
\$50,000		\$50,000	5	\$250,000
	SUB-TOTAL	:	416,120	\$5,179,250
Players Loyalty	v Program	\$39,608		\$39,608
	TOTAL:		416,120	\$5,218,858

(j) The odds of winning a prize in this game are approximately one in 3.60. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

Article 21.—SPECIFIC FAST PLAY GAME RULES

111-21-1. "Piggy Bank Bucks" fast play instant ticket lottery game number 850. (a) The Kansas lottery may conduct a fast play lottery game entitled "Piggy Bank Bucks." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-1.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
Prize Symbols	Captions
\$1 ^{.00}	ONE DOL
\$2 ^{.00}	TWO DOL
\$5.00	FIV DOL
\$10 ^{.00}	TEN DOL
\$20.00	TWENTY
\$50.00	FIFTY

\$100	ONE HUN
\$1,500	FIFTNHUN

(c) For this game, a play/prize symbol shall appear in 12 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Piggy Bank Bucks" is a key number match game with instant wins. The fast play ticket will reveal in the play area two "WINNING NUMBERS" and five "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUM-BERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number.

(g) Each ticket in this game may win up to 5 times.

(h) Approximately 960,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

		Winners Pe	er
	Prize	960,000	Prize Cost
\$1	\$1	105,600	\$105,600
\$1 x 2	\$2	96,000	\$192,000
\$2	\$2	57,600	\$115,200
\$1 + (\$2 x 2)	\$5	9,600	\$48,000
\$5	\$5	9,600	\$48,000
\$1 + (\$2 x 2) + \$5	\$10	960	\$9 <i>,</i> 600
\$5 x 2	\$10	960	\$9 <i>,</i> 600
\$10	\$10	960	\$9 <i>,</i> 600
\$10 x 2	\$20	240	\$4,800
(\$5 x 2) + \$10	\$20	240	\$4,800
\$1 + (\$2 x 2) + \$5 + \$10	\$20	240	\$4,800
\$20	\$20	240	\$4,800
(\$10 x 3) + \$20	\$50	60	\$3,000
(\$5 x 2) + (\$10 x 2) + \$20	\$50	60	\$3,000
\$50	\$50	60	\$3,000
\$50 x 2	\$100	20	\$2,000
(\$5 x 2) + (\$20 x 2) + \$50	\$100	20	\$2,000
\$100	\$100	20	\$2,000
\$1,500	\$1,500	12	\$18,000
	Sub-Total:	282,492	\$589 <i>,</i> 800
Player Loyalty Program			\$5,898
	Total:	282,492	\$595,698

(j) The odds of winning a prize in this game are approximately one in 3.40. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-2. "Buckets of Cash" fast play instant ticket lottery game number 851. (a) The Kansas lottery may conduct a fast play lottery game entitled "Buckets of Cash." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-2.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE

284

Vol. 43, No. 11, March 14, 2024

		0			
3	THREE		Prize	Prizes Per 960,000	Prize Cost
6	SIX	\$2	\$2	105,600	\$211,200
7	SEVEN	\$2 \$2 x 2	\$2 \$4	48,000	\$192,000
8	EIGHT	\$4	\$4	38,400	\$153,600
9	NINE	\$5	\$5	48,000	\$240,000
11	ELEVN	\$5 x 2	\$10	1,920	\$19,200
12	TWLV	(\$2 x 3) + \$4	\$10	8,640	\$86,400
13	THRTN	\$10	\$10	8,640	\$86,400
14	FORTN	\$5 x 3	\$15	960	\$14,400
16	SIXTN	$(\$4 \times 2) + \$5 + \$2$	\$15	960	\$14,400
17	SVNTN	\$15	\$15	960	\$14,400
18	EGHTN	\$5 x 4 \$10 x 2	\$20 \$20	$\frac{480}{480}$	\$9,600 \$9,600
10	NINTN	\$10 x 2 \$15 + \$5	\$20 \$20	480 480	\$9,600 \$9,600
21	TWYONE	\$20	\$20 \$20	480 480	\$9,600
21	TWYTWO	\$10 x 3	\$30	160	\$4,800
22		\$15 x 2	\$30	160	\$4,800
	TWYTHR	\$30	\$30	160	\$4,800
24	TWYFOR	(\$10 x 2) + \$30	\$50	140	\$7,000
25	TWYFIV	\$30 + \$20	\$50	200	\$10,000
26	TWYSIX	\$50	\$50	200	\$10,000
27	TWYSVN	(\$30 x 2) + (\$20 x 2)	\$100	40	\$4,000
28	TWYEGT	\$50 + \$30 + \$20	\$100	40	\$4,000
29	TWYNIN	\$100 \$50 + 4	\$100	40	\$4,000 \$2,200
		\$50 x 4 \$100 x 2	\$200 \$200	16 16	\$3,200 \$3,200
Prize Symbols	Captions	\$200 \$200	\$200 \$200	16 16	\$3,200 \$3,200
\$2 ^{.00}	TWO DOL	$($200 \times 2) + 100	\$500	10	\$6,000
\$ 4 ^{.00}	FOR DOL	\$500	\$500	8	\$4,000
\$5 ^{.00}	FIV DOL	\$2,500	\$2,500	24	\$60,000
\$10 ^{.00}	TEN DOL		Sub-Total:	265,232	\$1,203,400
\$15 ^{.00}	FIFTEEN	Player Loyalty Program			\$12,034
\$20 ^{.00}	TWENTY		Total:	265,232	\$1,215,434
\$20 \$30 ^{.00}	THIRTY	(j) The odds of wi	nning a prize in t	his game a	re approx-
\$50 ^{.00}		imately one in 3.62			
	FIFTY	74-8710; implement			
\$100	ONE HUN	K.S.A. 74-8720; effe			
\$200	TWO HUN				. ,
\$500	FIV HUN	111-21-3. "Luck	cy Gems" fast p		

(c) For this game, a play/prize symbol shall appear in 18 play spots within the play area or areas.

TWYFIVHUN

\$2,500

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Buckets of Cash" is a key number match game with instant wins. The fast play ticket will reveal in the play area six "WINNING NUMBERS" and four "BUCKETS" with two numbers and a prize amount in each "BUCK-ET." If a player matches two "WINNING NUMBERS" to both numbers in the same "BUCKET," the player wins the prize shown in that "BUCKET." Each "BUCKET" is played separately.

(g) Each ticket in this game may win up to 4 times.

(h) Approximately 960,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

111-21-3. "Lucky Gems" fast play instant ticket lottery game number 852. (a) The Kansas lottery may conduct a fast play lottery game entitled "Lucky Gems." The rules for this game are contained in K.A.R. 111-20-1 et seq. and 111-21-3.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
	(0

		-			
21	TWYONE			Winners Per	
22	TWYTWO	# 2	Prize	960,000	Prize Cost
23	TWYTHR	\$2 \$3	\$2 \$3	105,600 76,800	\$211,200 \$230,400
23	TWYFOR	\$5 \$5	\$5 \$5	57,600	\$230,400 \$288,000
		\$2 + \$3 + \$5	\$10	1,920	\$19,200
26	TWYSIX	\$5 x 2	\$10	8,640	\$86,400
27	TWYSVN	\$10	\$10	8,640	\$86,400
28	TWYEGT	\$5 x 3	\$15	960	\$14,400
29	TWYNIN	\$2 + \$3 + (\$5 x 2)	\$15	960	\$14,400
30	THIRT	\$15	\$15	960	\$14,400
31	THYONE	(\$3 x 5) + \$5	\$20	480	\$9,600
32	THYTWO	\$5 x 4	\$20	480	\$9,600
33	THYTHR	\$10 x 2	\$20	480	\$9,600
34	THYFOR	\$20 \$5 5	\$20 \$25	480	\$9,600
		\$5 x 5 \$15 + \$10	\$25 \$25	800 700	\$20,000 \$17,500
35	THYFIV	\$25	\$25 \$25	700 640	\$17,500
36	THYSIX	$(\$5 \times 4) + \$10 + \$20$	\$50	400	\$20,000
37	THYSVN	\$10 x 5	\$50	340	\$17,000
38	THYEGT	\$50	\$50	300	\$15,000
39	THYNIN	(\$15 x 5) + \$25	\$100	40	\$4,000
40	FORT	\$20 x 5	\$100	40	\$4,000
		\$100	\$100	40	\$4,000
Duizo Crumholo	Contions	\$50 x 4	\$200	20	\$4,000
Prize Symbols	Captions	\$100 x 2	\$200	20	\$4,000
\$2 ^{.00}	TWO DOL	\$200 (#50 2) (#100 1)	\$200	20	\$4,000
\$3.00	THR DOL	(\$50 x 2) + (\$100 x 4) \$500	\$500 \$500	12 8	\$6,000 \$4,000
\$5 ^{.00}	FIV DOL	\$2,500 \$2,500	\$2,500	8 24	\$4,000 \$60,000
\$10.00	TEN DOL	\$2,500	Sub-Total:	267,404	\$1,202,700
\$15.00	FIFTEEN	Player Loyalty Program	Sub Total.	207,404	\$12,027
\$20.00	TWENTY		Total:	267,404	\$1,214,727
\$25.00	TWY FIV				
\$50.00	FIFTY	(j) The odds of wi			
\$100	ONE HUN	imately one in 3.59			
\$200	TWO HUN	74-8710; implemen			
\$500	FIV HUN	K.S.A. 74-8720; effe	ctive, T-111-1-31	-24, Jan. 10	2024.)
+					

(c) For this game, a play/prize symbol shall appear in 36 play spots within the play area or areas.

TWYFIVHUN

\$2,500

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Lucky Gems" is a key number match game with instant wins. The fast play ticket will reveal in the play area four "GAMES." Each game will reveal one "LUCKY NUMBER" and four "YOUR NUMBERS" with a prize amount below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" with the "LUCKY NUMBER" in the same "GAME," the player wins the prize shown below that "YOUR NUMBER." Each "GAME" plays separately.

(g) Each ticket in this game may win up to 6 times.

(h) Approximately 960,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

© Kansas Secretary of State 2024

Vol. 43, No. 11, March 14, 2024

111-21-4. "Loaded Doubler" fast play instant ticket lottery game number 853. (a) The Kansas lottery may conduct a fast play lottery game entitled "Loaded Doubler." The rules for this game are contained in K.A.R. 111-20-1 et seq. and 111-21-4.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN

18	EGHTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSVN
28	TWYEGT
29	TWYNIN
30	THIRT
Prize Symbols	Captions
\$5.00	FIV DOL
\$10.00	TEN DOL
\$20 ^{.00}	TWENTY
\$25.00	TWY FIV
\$25 ^{.00} \$50 ^{.00}	TWY FIV FIFTY
+	
\$50 ^{.00}	FIFTY
\$50 ^{.00} \$100	FIFTY ONE HUN
\$50 ^{.00} \$100 \$125	FIFTY ONE HUN HUNDTWF
\$50 ^{.00} \$100 \$125 \$200 \$250 \$500	FIFTY ONE HUN HUNDTWF TWO HUN
\$50 ^{.00} \$100 \$125 \$200 \$250	FIFTY ONE HUN HUNDTWF TWO HUN TWHNFTY
\$50 ^{.00} \$100 \$125 \$200 \$250 \$500	FIFTY ONE HUN HUNDTWF TWO HUN TWHNFTY FIV HUN

(c) For this game, a play/prize symbol shall appear in 37 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Loaded Doubler" is a key number match game with instant wins and a multiplier. The fast play ticket will reveal in the play area five "WINNING NUMBERS" and 16 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. When a matching number appears with a money bag symbol outline around the number, the player wins double the prize shown below that number.

(g) Each ticket in this game may win up to 5 times.

(h) Approximately 600,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

		Winners Per	
	Prize	600,000	Prize Cost
\$5	\$5	108,000	\$540,000
\$5 w/DOUBLER	\$10	18,000	\$180,000
\$10	\$10	19,200	\$192,000
(\$5 w/DOUBLER) x2	\$20	8,400	\$168,000
\$10 w/DOUBLER	\$20	1,200	\$24,000
\$20	\$20	1,200	\$24,000
\$25 w/DOUBLER	\$50	3,000	\$150,000

((\$10 w/DOUBLER) x2) + (\$5 w/DOUBLER)	\$50	2,500	\$125,000
(\$20 w/DOUBLER) + (\$5 w/DOUBLER)	\$50	2,500	\$125,000
\$50	\$50	2,500	\$125,000
\$50 w/DOUBLER	\$100	300	\$30,000
((\$20 w/DOUBLER) x2) + (\$10 w/DOUBLER)	\$100	300	\$30,000
(\$20 w/DOUBLER) + ((\$10 w/DOUBLER) x2) + ((\$5 w/DOUBLER) x2)	\$100	250	\$25,000
(\$25 w/DOUBLER) + (\$20 w/			
DOUBLER) + (\$5 w/DOUBLER)	\$100	250	\$25,000
\$100	\$100	250	\$25,000
(\$50 w/DOUBLER) + (\$10 w/ DOUBLER) + \$5	\$125	200	\$25,000
(\$25 w/DOUBLER) + (\$20 w/DOUBLER) + (\$10 w/DOUBLER) + (\$5 w/DOUBLER) + \$5	\$125	200	\$25,000
(\$10 w/DOUBLER) + (\$5 w/DOUBLER) + \$5 ((\$20 w/DOUBLER) x3) + \$5	\$125 \$125	200 150	\$23,000 \$18,750
((\$25 w/DOUBLER) x2) +	φ12 <i>5</i>	150	\$10,750
(\$10 w/DOUBLER) + \$5	\$125	150	\$18,750
\$125	\$125	150	\$18,750
\$100 w/DOUBLER	\$200	40	\$8,000
(\$50 w/DOUBLER) + ((\$25 w/DOUBLER) x2)	\$200	40	\$8,000
(\$50 w/DOUBLER) + ((\$20 w/			
DOUBLER) x2) + (\$10 w/DOUBLER) ((\$25 w/DOUBLER) x2) + ((\$20 w/	\$200	40	\$8,000
$((\phi 20 W) DOUBLER)(\chi 2) + ((\phi 20 W) DOUBLER)(\chi 2) + ((\phi 10 W) DOUBLER)$	\$200	35	\$7,000
(\$50 w/DOUBLER) x 2	\$200	35	\$7,000
\$200	\$200	35	\$7,000
(\$100 w/DOUBLER) + (\$25 w/DOUBLER)	\$250	15	\$3,750
(\$50 w/DOUBLER) + ((\$25 w/			
DOUBLER) x2) + ($$20 \text{ w}$ /	¢250	15	¢2.750
DOUBLER) + (\$5 w/DOUBLER) ((\$50 w/DOUBLER) x 2) +	\$250	15	\$3,750
(\$25 w/DOUBLER)	\$250	15	\$3,750
\$250	\$250	15	\$3,750
\$250 w/DOUBLER	\$500	5	\$2,500
(\$125 w/DOUBLER) + (\$100 w/			
DOUBLER) + (\$25 w/DOUBLER)	\$500	5	\$2,500
(\$200 w/DOUBLER) + (\$50 w/DOUBLER)	\$500	5	\$2,500
\$500	\$500	5	\$2,500
\$500 w/DOUBLER	\$1,000	4	\$4,000
(\$250 w/DOUBLER) x2	\$1,000	4	\$4,000
(\$250 w/DOUBLER) + (\$200 w/ DOUBLER) + (\$50 w/DOUBLER)	\$1,000	4	\$4,000
\$1,000	\$1,000	4	\$4,000
(\$1,000 w/DOUBLER) + (\$250 w/DOUBLER)	\$2,500	2	\$5,000
((\$500 w/DOUBLER) x2) + (\$125 w/			
DOUBLER) + (\$100 w/DOUBLER) +	¢2 E00	2	¢= 000
(\$25 w/DOUBLER) \$2,500	\$2,500 \$2,500	2 1	\$5,000 \$2,500
\$2,000	\$2,300 \$25,000	4	\$2,500
\$25,000 Sub-Total:	. ,	169,030	\$2,092,750
Player Loyalty Program		107,000	\$20,972
Total:		169,030	\$2,113,722
Total.		,000	

(j) The odds of winning a prize in this game are approximately one in 3.55. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-5. "Crazy Wild Ca\$h" fast play instant ticket lottery game number 854. (a) The Kansas lottery may conduct a fast play lottery game entitled "Crazy Wild Ca\$h." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-5.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
	(continued)

the player matches any "WINNING NUMBERS" to both
numbers in the same "MONEY BAG," the player wins
the prize amount shown in that "MONEY BAG." If the
player matches either number in any "MONEY BAG" to
the "WILD NUMBER DOUBLER," the player doubles
the prize shown below the matching number.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 600,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

	"Money Bag"	Prize	Winners Per 600,000	Prize Cost
\$5		\$5	102,000	\$510,000
\$10		\$10	15,000	\$150,000
	\$10	\$10	15,000	\$150,000
\$15		\$15	6,000	\$90,000
\$10 x 2		\$20	2,400	\$48,000
\$10 w/ WILD		\$20	2,400	\$48,000
	\$10 x 2	\$20	2,400	\$48,000
	\$10 w/ WILD	\$20	2,400	\$48,000
	\$20	\$20	600	\$12,000
\$20		\$20	600	\$12,000
\$10 x 2	\$10	\$30	1,500	\$45,000
\$15 x 2		\$30	1,500	\$45,000
\$15 w/ WILD		\$30	1,500	\$45,000
\$20	\$10	\$30	1,500	\$45,000
	(\$10 w/ WILD)			
	+ \$10	\$30	1,500	\$45,000
	\$15 w/ WILD	\$30	1,500	\$45,000
	\$30	\$30	1,500	\$45,000
\$30		\$30	1,500	\$45,000
(\$10 x 2) + \$30		\$50	750	\$37,500
(\$15 x 2) + \$10	\$10	\$50	750	\$37,500
(\$15 w/ WILD) +				
(\$10 w/ WILD)		\$50	750	\$37,500
\$10 w/ WILD	\$15 x 2	\$50	750	\$37,500
	(\$10 w/ WILD)	* =0		*** * **
* **	+ \$30	\$50	750	\$37,500
\$10	\$20 w/ WILD	\$50	625	\$31,250
\$30	\$10 x 2	\$50	625	\$31,250
	\$50	\$50	625	\$31,250
\$50		\$50	625	\$31,250
\$20 x 4	\$10 w/ WILD	\$100	125	\$12,500
\$50 x 2		\$100	125	\$12,500
(\$15 x 4) + \$10	\$15 w/ WILD	\$100	125	\$12,500
(\$15 x 4) + (\$10 x 2)	\$10 x 2	\$100	125	\$12,500
(\$15 w/ WILD) x 2	\$20 w/ WILD	\$100	125	\$12,500
420 / M/H D	(\$10 w/ WILD)	¢100	105	¢10 500
\$30 w/ WILD	x 2	\$100	125	\$12,500
\$50 w/ WILD	450 (NHLD	\$100	125	\$12,500
	\$50 w/ WILD	\$100	125	\$12,500
\$50	(\$15 w/ WILD) + \$20	\$100	125	\$12,500
450	\$100		125	
\$100	\$100	\$100 \$100	125	\$12,500 \$10,000
\$100 x 4	¢100	\$500	100	\$10,000
	\$100	\$500	10	\$5,000
(\$100 x 3) + (\$50 x 2) + (\$20 x 3)	\$20 w/ WILD	\$500	5	\$2,500
((\$20 w/ WILD) x 4) + (\$15 x 2) + \$10	(\$100 w/ WILD) + (\$50 x 2)	\$500	10	\$5,000
$((\$50 \text{ w/WILD}) \times 3) +$	(\$10 w/ WILD)	¢=00	-	¢2 500
$(\$50 \times 2) + (\$20 \times 3)$	x 2	\$500 \$500	5	\$2,500 \$2,500
(\$100 w/ WILD) x 2	\$50 x 2	\$500 ¢500	5	\$2,500
¢500	\$500	\$500 ¢500	5	\$2,500
\$500		\$500	5	\$2,500

2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSVN
28	TWYEGT
29	TWYNIN
Prize Symbols	Captions
\$5 ^{.00}	FIV DOL
\$10 ^{.00}	TEN DOL
\$15 ^{.00}	FIFTEEN
\$20 ^{.00}	TWENTY
\$30.00	THIRTY
\$50 ^{.00}	FIFTY
\$100	ONE HUN
\$500	FIV HUN
\$1,000	ONE THO

(c) For this game, a play/prize symbol shall appear in 34 play spots within the play area or areas.

FIV THO

TWYFIVTHO

\$5,000

\$25,000

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Crazy Wild Ca\$h" is a key number match game with instant wins and a multiplier. The fast play ticket will reveal four play areas. The first play area will reveal eight "WINNING NUMBERS." The second play area will reveal eight "YOUR NUMBERS." The second play area will reveal eight "YOUR NUMBERS." If the player matches any of the "YOUR NUMBERS." If the player matches any of the "YOUR NUMBERS." to any of the "WINNING NUMBERS," the player wins the prize shown below that number. The third play area will reveal one "WILD NUMBER DOUBLER." If the player matches any "YOUR NUMBERS" to the "WILD NUMBER DOUBLER," the player doubles the prize shown below the matching number. The fourth play area will reveal three "MONEY BAGS," each with two numbers and a prize amount. Each "MONEY BAG" plays separately. If

Money B

Symbol of a gem Symbol of a key Symbol of a roll of money

\$500 x 2		\$1,000	4	\$4,000
(\$100 x 4) + \$500	\$50 w/ WILD	\$1,000	4	\$4,000
	(\$50 w/ WILD)	. ,		. ,
(\$100 x 3) + \$500 + \$50	+ \$30 + \$20	\$1,000	4	\$4,000
\$500 w/ WILD		\$1,000	4	\$4,000
	\$500 w/ WILD	\$1,000	4	\$4,000
\$1,000		\$1,000	4	\$4,000
(\$1,000 w/ WILD) +	(\$1,000 w/			
(\$100 x 4) + (\$50 x 2)	WILD) + \$500	\$5,000	2	\$10,000
\$5,000		\$5,000	2	\$10,000
\$25,000		\$25,000	4	\$100,000
	Sub-Total:		168,477	\$2,090,000
Player Loyalty Program				\$20,900
	Total:		168,477	\$2,110,900

(j) The odds of winning a prize in this game are approximately one in 3.56. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-6. "Money Bag Bonus" fast play instant ticket lottery game number 855. (a) The Kansas lottery may conduct a fast play lottery game entitled "Money Bag Bonus." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-6.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSVN
28	TWYEGT
29	TWYNIN
30	THIRT
ney Bag Bonus Play Symbols	No Captions
Symbol of a ring	-
Symbol of a credit card	
Symbol of a wallet	
-	

Symbol of a gold bar Symbol of a stack of money Symbol of a stack of coins

Prize Symbols	Captions
\$5 ^{.00}	FIV DOL
\$10.00	TEN DOL
\$15.00	FIFTEEN
\$25 ^{.00}	TWY FIV
\$50.00	FIFTY
\$100	ONE HUN
\$200	TWO HUN
\$500	FIV HUN
\$1,000	ONE THO
\$25,000	TWYFIVTHO

(c) For this game, a play/prize symbol shall appear in 32 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Money Bag Bonus" is a key number match game with instant wins and a bonus area. The fast play ticket will reveal in the play area five "WINNING NUMBERS" and 12 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If five "YOUR NUMBERS" appear with a money bag symbol outline around the number, the player wins \$50 instantly. In the "MONEY BAG BONUS" area, the ticket will reveal three play symbols. If the ticket reveals a stack of coins symbol, a stack of money symbol or a gold bar symbol, the player will refer to the "PRIZE LEGEND" located to the right of the "MONEY BAG BO-NUS" play area to determine the prize amount won: a stack of coins symbol will win \$10; a stack of money symbol will win \$15; and a gold bar symbol will win \$25.

(g) Each ticket in this game may win up to 9 times.

(h) Approximately 600,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

			Winners Per	1
	Bonus	Prize	600,000	Prize Cost
\$5		\$5	102,000	\$510,000
\$5 x 2		\$10	12,000	\$120,000
	\$10 w/ STACK OF			
	COINS	\$10	12,000	\$120,000
\$10		\$10	12,000	\$120,000
\$5 x 3		\$15	1,200	\$18,000
	\$10 w/ STACK OF			
\$5	COINS	\$15	600	\$9,000
\$10 + \$5		\$15	600	\$9,000
	\$15 w/ STACK OF			
	MONEY	\$15	600	\$9,000
\$15		\$15	600	\$9,000
\$5 x 5		\$25	3,000	\$75,000
				(continued)

\$5	(\$10 w/ STACK OF COINS) x 2	\$25	3,000	\$75,000	\$25,000
\$10	\$15 w/ STACK OF MONEY	\$25	3,000	\$75,000	Player Loyalty Prog
\$15	\$10 w/ STACK OF COINS	\$25	3,000	\$75,000	(j) The odds
	(\$15 w/ STACK OF MONEY) + (\$10 w/				imately one i 74-8710; impl
	STACK OF COINS)	\$25	2,500	\$62,500	K.S.A. 74-872 111-21-7.
	\$25 w/ GOLD BAR	\$25	2,500	\$62,500	
\$25		\$25	2,500	\$62,500	lottery game
\$10 x 5		\$50	1,000	\$50,000	conduct a fa
(\$10 x 2) + \$5	\$25 w/ GOLD BAR	\$50	1,000	\$50,000	Safe." The ru 111-20-1 <i>et seq</i>
(\$10 x 2) + (\$5 x 4)	\$10 w/ STACK OF COINS	\$50	1,000	\$50,000	(b) The "pl this game are
\$25	\$25 w/ GOLD BAR	\$50	1,000	\$50,000	Play S
	(\$25 w/ GOLD BAR) + (\$15 w/ STACK OF MONEY) + (\$10 w/ STACK OF COINS)	\$50	1,000	\$50,000	
	(\$25 w/ GOLD BAR) x 2	\$50	750	\$37,500	
\$50 w/ FIVE	,				
MONEY BAGS		\$50	750	\$37,500	
\$50		\$50	625	\$31,250	
\$25 x 4		\$100	225	\$22,500	
	(\$25 w/ GOLD BAR) + (\$15 w/ STACK OF MONEY) + (\$10				
\$10 x 5	w/ STACK OF COINS)	\$100	225	\$22,500	-
\$25	(\$25 w/ GOLD BAR) x 3	\$100	225	\$22,500	
\$50 w/ FIVE MONEY BAGS	(\$25 w/ GOLD BAR) x 2	\$100	175	\$17,500	
	(\$15 w/ STACK OF MONEY) + (\$10 w/				
(\$50 w/ FIVE MONEY BAGS) + (\$5 x 5) (\$50 w/ FIVE MONEY	STACK OF COINS) (\$10 w/ STACK OF	\$100	175	\$17,500	
(\$50 w/ FIVE MONEY) (\$50 w/ FIVE MONEY)	COINS)	\$100	175	\$17,500	-
BAGS) + \$50		\$100	175	\$17,500	,
	(\$25 w/ GOLD BAR) + (\$15 w/ STACK OF MONEY) + (\$10				
\$50 w/ FIVE	w/ STACK OF				
MONEY BAGS	COINS)	\$100	175	\$17,500	
\$100 \$50 × 4		\$100 \$200	175	\$17,500	
\$50 x 4 (\$50 w/ FIVE MONEY	\$25 w/ GOLD	\$200	30	\$6,000	3
(350 W) + (100 E) BAGS) + (\$25 x 5)	\$25 W/ GOLD BAR ((\$15 w/ STACK	\$200	30	\$6,000	3
(\$50 w/ FIVE	OF MONEY) x 2)				
MONEY BAGS) + \$50 + \$25 + \$15 + \$5	+ (\$25 w/ GOLD BAR)	\$200	30	\$6,000	3
(\$50 w/ FIVE MONEY BAGS) + (\$50 x 2) +	(\$10 w/ STACK OF				3
(\$15 x 2)	COINS) x 2	\$200	25	\$5,000	3
\$200		\$200	25	\$5,000	3
\$500 x 2		\$1,000	8	\$8,000	3
	(\$25 w/ GOLD				3
	BAR) + (\$15 w/ STACK OF				4
(\$50 w/ FIVE MONEY	MONEY) + (\$10				4
BAGS) + (\$50 x 2) +	w/ STACK OF	¢1.000	0	#0.000	
\$500 + \$200 + \$100	COINS)	\$1,000	8	\$8,000	4
\$1,000		\$1,000	5	\$5,000	4

\$25,000	\$25,000	4	\$100,000
	Sub-Total:	170,115	\$2,089,250
Player Loyalty Program			\$20,892
	Total:	170,115	\$2,110,142

(j) The odds of winning a prize in this game are approximately one in 3.53. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-7. "Crack the Safe" fast play instant ticket lottery game number 856. (a) The Kansas lottery may conduct a fast play lottery game entitled "Crack the Safe." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-7.

(b) The "play and prize symbols" and "captions" for this game are as follows:

	this game are as follows.	
00	Play Symbols	Captions
	1	ONE
	2	TWO
	3	THREE
00	4	FOUR
00	5	FIVE
00	6	SIX
00	7	SEVEN
50	8	EIGHT
00	9	NINE
	11	ELEVN
	12	TWLV
	13	THRTN
00	14	FORTN
00	15	FIFTN
	16	SIXTN
00	17	SVNTN
	18	EGHTN
	19	NINTN
00	21	TWYONE
	22	TWYTWO
00	23	TWYTHR
00	24	TWYFOR
	25	TWYFIV
	26	TWYSIX
	27	TWYSVN
00	28	TWYEGT
00	29	TWYNIN
00	30	THIRT
00	31	THYONE
00	32	THYTWO
	33	THYTHR
00	34	THYFOR
	35	THYFIV
00	36	THYSIX
00	37	THYSVN
00	38	THYEGT
	39	THYNIN
	40	FORT
	41	FRYONE
00	42	FRYTWO
00	43	FRYTHR

44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSVN
48	FRYEGT
49	FRYNIN
Symbol of a key	DBL
Prize Symbols	Captions
\$10.00	TEN DOL
\$20 ^{.00}	TWENTY
\$50.00	FIFTY
\$100	ONE HUN
\$200	TWO HUN
\$500	FIV HUN
\$2,000	TWO THO
\$75,000	SVYFWTHO

(c) For this game, a play/prize symbol shall appear in 55 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Crack the Safe" is a key number match game with instant wins and a multiplier. The fast play ticket will reveal in the play area seven "WINNING NUMBERS" and 12 "SAFES" with three play symbols and a prize amount in each "SAFE." If a player matches three "WINNING NUMBERS" to all three numbers in the same "SAFE," the player wins the prize shown in that "SAFE." If a player matches two "WINNING NUMBERS" and a key symbol, the player wins double the prize amount in that "SAFE." Each "SAFE" is played separately.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 480,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

		Winners Per	
	Prize	480,000	Prize Cost
\$10	\$10	76,800	\$768,000
\$10 x 2	\$20	16,800	\$336,000
\$10 w/ KEY	\$20	16,800	\$336,000
\$20	\$20	16,800	\$336,000
(\$10 x 3) + \$20	\$50	4,000	\$200,000
\$10 + (\$20 w/ KEY)	\$50	3,000	\$150,000
(\$20 x 2) + \$10	\$50	1,500	\$75,000
\$50	\$50	1,500	\$75,000
\$50 x 2	\$100	2,000	\$200,000
\$50 w/ KEY	\$100	2,000	\$200,000
\$10 x 10	\$100	1,200	\$120,000
\$20 x 5	\$100	1,200	\$120,000
\$100	\$100	1,000	\$100,000
\$50 x 4	\$200	50	\$10,000
\$100 w/ KEY	\$200	50	\$10,000
\$100 x 2	\$200	50	\$10,000
\$200	\$200	50	\$10,000

\$50 x 10	\$500	6	\$3,000	
\$100 + ((\$100 w/ KEY) x 2)	\$500	6	\$3,000	
\$100 x 5	\$500	6	\$3,000	
\$500	\$500	6	\$3,000	
\$200 x 10	\$2,000	10	\$20,000	
\$2,000	\$2,000	6	\$12,000	
\$75,000	\$75,000	4	\$300,000	
Sub-Tota	al:	144,844	\$3,400,000	
Player Loyalty Program			\$34,000	
Tota	al:	144,844	\$3,434,000	

(j) The odds of winning a prize in this game are approximately one in 3.31. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-8. "Fat Wallet" fast play instant ticket lottery game number 857. (a) The Kansas lottery may conduct a fast play lottery game entitled "Fat Wallet." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-8.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
11	ELEVN
12	TWLV
13	THRTN
14	FORTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSVN
28	TWYEGT
29	TWYNIN
30	THIRT
31	THYONE
32	THYTWO
33	THYTHR
34	THYFOR
35	THYFIV
36	THYSIX
37	THYSVN
38	THYEGT
39	THYNIN
	(co

(continued)

Bonus Play Symbols	Captions
Symbol of a check	CHECK
Symbol of a bank	BANK
Symbol of a credit card	CREDIT
Symbol of a piggy bank	PIGBNK
Symbol of a diamond	DIAMOND
Symbol of an ATM	ATM
Symbol of a safe	SAFE
Symbol of a stack of money	CASH
Symbol of a money bag	MNYBAG
Symbol of a treasure chest	CHEST
Symbol of a gold bar	GOLD
Symbol of a stack of coins	COINS
Prize Symbols and Bonus	
Prize Symbols	Captions
\$10 ^{.00}	TEN DOL
\$15.00	FIFTEEN
\$20 ^{.00}	TWENTY
\$25 ^{.00}	TWY FIV
\$40.00	FORTY
\$50.00	FIFTY
\$100	ONE HUN
\$250	TWHNFTY
\$500	FIV HUN
\$1,000	ONE THO
\$75,000	SVYFIVTHO

(c) For this game, a play/prize symbol shall appear in 48 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$10.00 each.

(f) "Fat Wallet" is a key number match game and symbol match game with instant wins and a bonus area. The fast play ticket will reveal in the play area seven "WIN-NING NUMBERS" and 16 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. In the "FATTER WALLET BO-NUS" area, the ticket will reveal one "WINNING SYM-BOL" and four additional symbols with a prize amount below each symbol. If the player matches any of the additional symbols to the "WINNING SYMBOL," the player wins the prize amount shown below that symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 480,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

	Bonus	Prize	Winners Per 480,000	Prize Cost
\$10		\$10	38,400	\$384,000
	\$10	\$10	28,800	\$288,000

\$15		\$15	14,400	\$216,000
	\$15	\$15	14,400	\$216,000
\$10	\$10	\$20	4,800	\$96,000
\$20		\$20	4,800	\$96,000
	\$20	\$20	4,800	\$96,000
\$10	\$15	\$25	4,000	\$100,000
\$15	\$10	\$25	4,000	\$100,000
\$25		\$25	4,000	\$100,000
	\$25	\$25	4,000	\$100,000
	\$10 x 4	\$40	2,000	\$80,000
(\$15 x 2) + \$10		\$40	2,000	\$80,000
\$10 x 2	\$20	\$40	2,000	\$80,000
\$40		\$40	2,000	\$80,000
	\$40	\$40	2,000	\$80,000
\$10 x 5		\$50	1,200	\$60,000
\$20	\$15 x 2	\$50	1,200	\$60,000
\$50		\$50	1,100	\$55,000
	\$50	\$50	1,000	\$50,000
\$10 x 10		\$100	800	\$80,000
	\$25 x 4	\$100	800	\$80,000
\$100		\$100	700	\$70,000
	\$100	\$100	700	\$70,000
(\$10 x 15) + \$20	\$20 x 4	\$250	300	\$75,000
\$15 x 10	\$25 x 4	\$250	150	\$37,500
\$250		\$250	120	\$30,000
	\$250	\$250	120	\$30,000
\$25 x 16	\$25 x 4	\$500	200	\$100,000
\$500		\$500	60	\$30,000
	\$500	\$500	40	\$20,000
\$1,000		\$1,000	15	\$15,000
	\$1,000	\$1,000	12	\$12,000
\$75,000		\$75,000	4	\$300,000
	Sub-Total:		144,921	\$3,366,500
Player Loyalty Program				\$33,665
0	Total:		144,921	\$3,400,165

(j) The odds of winning a prize in this game are approximately one in 3.31. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-9. "Diamond Mine" fast play instant ticket lottery game number 858. (a) The Kansas lottery may conduct a fast play lottery game entitled "Diamond Mine." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-9.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWLV
13	THRTN

14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSVN
28	TWYEGT
29	TWYNIN
31	THYONE
32	THYTWO
33	THYTHR
34	THYFOR
35	THYFIV
36	THYSIX
37	THYSVN
38	THYEGT
39	THYNIN
Bonus Play Symbols	Captions
Symbol of a diamond	-
Symbol of a pickaxe	
Symbol of a cart	
Prize Symbols	Captions
\$20 ^{.00}	TWENTY
\$30 ^{.00}	THIRTY
\$40 ^{.00}	FORTY

 \$50⁻⁰⁰
 I HIRT I

 \$40⁻⁰⁰
 FORTY

 \$50⁻⁰⁰
 FIFTY

 \$100
 ONE HUN

 \$200
 TWO HUN

 \$500
 FIV HUN

 \$500
 ONE THO

 \$1,000
 ONE HUNTHO

(c) For this game, a play/prize symbol shall appear in 54 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$20.00 each.

(f) "Diamond Mine" is a key number match game and a bonus symbol match game with instant wins. The fast play ticket will reveal in the play area eight "WIN-NING NUMBERS," 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS" and six "BONUS PLAY SYMBOLS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If the ticket play area reveals three of the same "BONUS PLAY SYMBOLS," the player will refer to the "PRIZE LEGEND" located below the play area to determine the prize amount won: three pickaxe symbols will win \$20; three diamond symbols will win \$50; and three cart symbols will win \$100.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 360,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

Sume brian be t	101101101101			
	Bonus	Prize	Winners Per 360,000	Prize Cost
	\$20 w/ 3 PICKAXE	¢ 2 0	F4 000	¢1.000.000
\$20	SYMBOLS	\$20 \$20	54,000 54,000	\$1,080,000 \$1,080,000
\$20 \$30		\$20 \$30	2,700	\$1,080,000
\$20 x 2		\$40	2,025	\$81,000 \$81,000
φ20 X 2	\$20 w/ 3 PICKAXE	φ 1 0	2,025	\$01,000
\$20	SYMBOLS	\$40	2,250	\$90,000
\$40		\$40	2,025	\$81,000
\$20 + \$30		\$50	900	\$45,000
	\$20 w/ 3 PICKAXE			
\$30	SYMBOLS	\$50	1,500	\$75,000
	\$50 w/ 3 DIAMOND	¢50	000	¢ 45 000
¢50	SYMBOLS	\$50 ¢50	900	\$45,000
\$50 \$20 5		\$50 ¢100	900	\$45,000
\$20 x 5		\$100	1,050	\$105,000
\$40 x 2	\$20 w/ 3 PICKAXE SYMBOLS	\$100	1,350	\$135,000
	(\$20 w/ 3 PICKAXE SYMBOLS) + (\$50 w/ 3 DIAMOND			
\$30	SYMBOLS)	\$100	1,350	\$135,000
\$20 + (\$40 x 2)	/	\$100	900	\$90,000
$(\$20 \times 2) + (\$30 \times 2)$		\$100	1,200	\$120,000
. , . ,	\$50 w/ 3 DIAMOND			
\$30 + \$20	SYMBOLS	\$100	1,350	\$135,000
\$100		\$100	900	\$90,000
\$50 x 2	\$100 w/ 3 CART SYMBOLS	\$200	600	\$120,000
	(\$100 w/ 3 CART SYMBOLS) + (\$20 w/ 3 PICKAXE			
\$20 + (\$30 x 2)	SYMBOLS)	\$200	714	\$142,800
	(\$50 w/ 3 DIAMOND SYMBOLS) + (\$20 w/ 3 PICKAXE			
(\$40 x 2) + \$50	SYMBOLS) \$20 w/ 3 PICKAXE	\$200	711	\$142,200
$($20 \times 3) + ($40 \times 3)$	SYMBOLS	\$200	750	\$150,000
\$50 + \$100	\$50 w/ 3 DIAMOND SYMBOLS	\$200	450	\$90,000
\$30 + \$50 + \$100	\$20 w/ 3 PICKAXE SYMBOLS	\$200	450	\$90,000
\$100	\$100 w/ 3 CART SYMBOLS	\$200	225	\$45,000
\$200	011110020	\$200	150	\$30,000
	(\$50 w/ 3 DIAMOND SYMBOLS) + (\$100 w/ 3 CART	+		400)000
\$50 + (\$100 x 3)	SYMBOLS) \$20 w/ 3 PICKAXE	\$500	225	\$112,500
(\$40 x 2) + (\$100 x 4)	SYMBOLS	\$500	225	\$112,500
\$100 x 5		\$500	180	\$90,000
\$500		\$500	75	\$37,500
\$500 x 2		\$1,000	40	\$40,000
¢20 - (¢102 - ■)	(\$50 w/ 3 DIAMOND SYMBOLS) + (\$20 w/ 3			
$30 + (100 \times 5) + (200 \times 2)$	PICKAXE SYMBOLS)	\$1 000	50	\$50,000
+ (\$200 x 2) \$1,000	5 TWDOL5	\$1,000 \$1,000	50 40	\$30,000 \$40,000
φι,000		φ1,000	40	
				(continued)

		v	Vinners Per	
	Bonus	Prize	360,000	Prize Cost
\$100,000	9	\$100,000	4	\$400,000
	Sub-Total:		134,189	\$5,205,500
Player Loyalty Program				\$52,055
	Total:		134,189	\$5,257,555

(j) The odds of winning a prize in this game are approximately one in 2.68. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

111-21-10. "Cherry Twist" fast play instant ticket lottery game number 859. (a) The Kansas lottery may conduct a fast play lottery game entitled "Cherry Twist." The rules for this game are contained in K.A.R. 111-20-1 *et seq.* and 111-21-10.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
Symbol of a dollar sign	DLR
Symbol of a stack of cash	CASH
Symbol of a bell	BELL
Symbol of a pineapple	PNA
Symbol of a melon	MELON
Symbol of an orange	ORNG
Symbol of a ladybug	LDYBUG
Symbol of a piggy bank	PIGBNK
Symbol of a crown	CROWN
Symbol of a pot of gold	PTGLD
Symbol of a key	KEY
Symbol of a diamond	DMND
Symbol of a banana	BNA
Symbol of a heart	HEART
Symbol of a chest	CHEST
Symbol of a wishbone	WBONE
Symbol of a four leaf clover	CLVR
Symbol of a coin	COIN
Symbol of a medal	MEDAL
Symbol of a safe	SAFE
Symbol of a horseshoe	SHOE
Symbol of a star	STAR
Symbol of a peach	PEACH
Symbol of a moneybag	BAG
Symbol of a cupcake	CPCAKE
Symbol of a strawberry	STRWB
Symbol of a cherry	WIN
Prize Symbols	Captions
\$20 ^{.00}	TWENTY
\$40 ^{.00}	FORTY
\$60 ^{.00}	SIXTY
\$100	ONE HUN
\$200	TWO HUN
\$300	THR HUN
\$500	FIV HUN
\$1,000	ONE THO
\$100,000	ONEHUNTHO

(c) For this game, a play/prize symbol shall appear in 60 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 999.

(e) The price of fast play tickets sold by a retailer for this game shall be \$20.00 each.

(f) "Cherry Twist" is a symbol match game with instant wins. The fast play ticket will reveal in the play area 15 "GAMES" that consist of three play symbols and a prize amount for each "GAME." Each "GAME" plays separately. If the ticket reveals three of the same symbols in the same "GAME," the player wins the prize amount revealed for that "GAME." If the ticket reveals a cherry symbol in a "GAME," the player wins the prize shown for that "GAME" instantly.

(g) Each ticket in this game may win up to 15 times.

(h) Approximately 360,000 tickets shall be ordered initially for this fast play game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of prizes in this game shall be as follows:

		Prize	Winners Per 360,000	Prize Cost
\$20 w/CHERRY		\$20	72,000	\$1,440,000
\$20		\$20	45,000	\$900,000
\$20 x 2		\$40	2,025	\$81,000
\$40 w/CHERRY	,	\$40	2,250	\$90,000
\$40		\$40	2,025	\$81,000
\$20 x 3		\$60	900	\$54,000
\$20 w/CHERRY	r + \$40	\$60	1,500	\$90,000
\$60 w/CHERRY	,	\$60	900	\$54,000
\$60		\$60	900	\$54,000
\$20 x 5		\$100	1,050	\$105,000
\$20 + (\$40 x 2) w	v/CHERRY	\$100	1,500	\$150,000
\$40 + \$60		\$100	1,350	\$135,000
\$100 w/CHERR	Y	\$100	900	\$90,000
\$100		\$100	1,200	\$120,000
\$20 x 10		\$200	600	\$120,000
(\$20 x 5) + \$40 +	(\$60 w/CHERRY)	\$200	750	\$150,000
\$200 w/CHERR	Y	\$200	636	\$127,200
\$200		\$200	600	\$120,000
\$20 x 15		\$300	450	\$135,000
(\$40 x 5 w/CHE	RRY) + \$100	\$300	375	\$112,500
\$20 + \$40 + (\$60	x 4)	\$300	225	\$67,500
\$300 w/CHERR	Y	\$300	150	\$45,000
\$300		\$300	150	\$45,000
(\$20 x 5) + ((\$10	0 x 4) w/CHERRY)	\$500	261	\$130,500
(\$20 x 5) + (\$40 x	x 10)	\$500	225	\$112,500
\$500 w/CHERR	Y	\$500	114	\$57,000
\$500		\$500	75	\$37,500
\$40 + (\$60 x 11)	+ (\$100 x 3)	\$1,000	60	\$60,000
\$1,000 w/CHER	RY	\$1,000	30	\$30,000
\$1,000		\$1,000	20	\$20,000
\$100,000		\$100,000	4	\$400,000
	Sub-Total	:	138,225	\$5,213,700
Player Loyalty I	Program			\$52,137
	Total	:	138,225	\$5,265,837

(j) The odds of winning a prize in this game are approximately one in 2.60. (Authorized by K.S.A. 2023 Supp. 74-8710; implementing K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8720; effective, T-111-1-31-24, Jan. 10, 2024.)

Vol. 43, No. 11, March 14, 2024

Article 501.-SOUTH CENTRAL GAMING ZONE

111-501-113. How to play. (a) Midi-Baccarat is played with eight decks of 52 standard playing cards. Each card shall only be used for one hand of play after which it is removed from any further play. The players may place a wager on either the bank's hand, the player's hand, or on a tie between the player's and the bank's hands.

(b) Two cards are dealt face down to the player's hand without exposing the cards to any player. The dealer shall then pass the two cards comprising the player's hand to the seated player who has placed the highest player bet on that hand, without exposing the cards to any other player. In the event two or more players have made the highest player bet on that hand, the cards shall be passed to the first player seated clockwise from the dealer with the highest player bet for that hand, and will alternate when the next hand is dealt if more than one player has again made the highest player bet. Players may decline to touch the cards, in which case the cards will be passed to the next player seated clockwise from the dealer who has made the same or the next highest player bet. The player who received the cards may look at and otherwise handle the cards and then return them to the dealer. The dealer shall then place the cards face up on the table layout and announce the total of the two cards. If all players decline to touch the cards, the dealer shall then place the cards face up on the table layout and announce the total of the two cards.

(c) Two cards are then dealt face down to the bank's hand without exposing the cards to any player. The dealer shall then pass the two cards comprising the bank's hand to the seated player who has placed the highest banker bet on that hand, without exposing the cards to any other player. In the event two or more players have made the highest bank bet on that hand, the cards shall be passed to the first player seated clockwise from the dealer with the highest bank bet for that hand, and will alternate when the next hand is dealt if more than one player has again made the highest bank bet. Players may decline to touch the cards, in which case the cards will be passed to the next player seated clockwise from the dealer who has made the same or the next highest bank bet. The player who received the cards may look at and otherwise handle the cards and then return them to the dealer. The dealer shall then place the cards face up on the table layout and announce the total of the two cards. If all players decline to touch the cards, the dealer shall then place the cards face up on the table layout and announce the total of the two cards.

(d) A third card may be drawn by either side subject to the rules herein, with the player's hand acting first. If the player's hand receives a third card, the dealer shall pass the one additional card to the same seated player, if any, who touched the first two player's hand cards, without exposing the card to any other player. The player who received the card may look at it and then return it face down to the dealer. The dealer shall then place the card face up on the table layout and announce the new total of the three player's hand cards. If all players declined to touch the first two cards as provided in subsection (b), no player shall be permitted to touch the third card and the dealer shall place the third card face up on the table layout and announce the total of the three cards. If the bank's hand receives a third card, the dealer shall pass the one additional card to the same seated player, if any, who touched the first two bank's hand cards, without exposing the card to any other player. The player who received the card may look at it and then return it face down to the dealer. The dealer shall then place the card face up on the table layout and announce the new total of the three bank's hand cards. If all players declined to touch the first two cards as provided in subsection (c), no player shall be permitted to touch the third card and the dealer shall place the third card face up on the table layout and announce the total of the three cards. Neither the player side nor the bank side will ever have more than three cards.

(e) If on any hand no player has placed a bet on the player's hand, then the dealer shall not pass any cards to any player but instead shall skip to that step in the dealing procedure as stated hereinabove in subsections (b), (c) and (d) wherein the dealer places the card or cards face up on the table layout and announces the total or new total of the player's hand.

(f) If on any hand no player has placed a bet on the bank's hand, then the dealer shall not pass any cards to any player but instead shall skip to that step in the dealing procedure as stated in subsections (c) and (d) hereinabove wherein the dealer places the card or cards face up on the table layout and announces the total or new total of the bank's hand.

(g) When a player has placed a bet on the bank's hand and no other player has placed a bet on the player's hand, upon request by that player and approval from the table games supervisor or higher ranking casino official, the player's hand will not be turned face up until the bank's hand is turned face up.

(h) When a player has placed a bet on the bank's hand and no other player has placed a bet on the player's hand, upon request by that player and approval from the table games supervisor or higher ranking casino official, only one of the cards from the player's hand will be turned face up before the bank's hand is turned face up.

(i) At no time shall more than one player have physical possession of a hand of cards nor shall any action be taken until that hand of cards is returned to the dealer.

(j) The winning hand is the one with the point count closest to nine, after all cards are dealt. Each "10" card, the sum of cards totaling 10, and the jack, queen and king card all count as zero points. Aces count only as one point, and numbered cards 2, 3, 4, 5, 6, 7, 8, and 9 count as their respective face value. If the point count total is a two-digit number, only the last digit is utilized when determining the hand with a point count closest to a total of nine.

(k) If either the player or the bank has a total point count of 8 or 9 on the first two cards, no further cards are drawn, the hand totaling 8 or 9 is declared a natural, and unless there is a tie the hand totaling 8 or 9 is announced the winner.

(l) If the player's hand has a point count total of 5 or less, a third card will be drawn unless the bank wins with a natural.

(continued)

(m) If the player's hand does not draw a third card, then the bank's hand stands on a hand having a point count total of 6 or more and draws a third card on a hand having a point count total of 5 or less.

(n) If the player's hand does draw a third card, then the bank's hand draws according to the third card rules of Midi-Baccarat.

(o) The highest point count closest to 9 wins the hand, and if both hands are equally close to a point count total of 9 the hand shall be declared a tie.

(p) The bank and player hands are even money bets that pay odds of 1 to 1.

(q) There is an optional tie bet that pays odds of 8 to 1. The tie bet is a separate bet wagered before the cards are dealt.

(r) A commission or vigorish shall be collected out of the wagers on each winning bank hand, which commission shall be equal to five percent of the amount wagered on that winning bank hand. (Authorized by K.S.A. 2023 Supp. 74-8710 and K.S.A 74-8748; implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-10-18-12, Aug. 15, 2012; amended, T-111-1-31-24, Jan. 10, 2024.)

111-501-155. Midi-baccarat 5 treasures and eternal baccarat bonus bet. (a) The 5 treasures baccarat bonus may be offered for play in the game of midi-baccarat. The 5 treasures baccarat bonus offers several optional side bets with separate pay tables. The pay tables shall be posted on the midi-baccarat table.

(b) Rules for the 5 treasures baccarat bonus bet are as follows:

(1) Players must make a standard midi-baccarat wager in order to make a 5 treasures baccarat bonus bet;

(2) 5 treasures baccarat bonus bet limits will be posted at the table and must be made in \$5 increments; and

(3) 5 treasures baccarat bonus bets must be placed within the designated betting area on the game table.

(c) There are five optional wagers on the 5 treasures baccarat bonus as follows:

(1) Fortune 7 wins if the banker's outcome is a threecard total of seven and pays odds of 40 to 1.

(2) Golden 8 wins if the player's outcome is a threecard total of eight and pays odds of 25 to 1.

(3) Heavenly 9 wins if either the banker's outcome or the player's outcome is a three-card total of nine and pays odds of 10 to 1. Heavenly 9 wins if both the banker's outcome and the player's outcome are three-card totals of nine and pays odds of 75 to 1.

(4) Blazing 7 wins if both the banker's outcome and the player's outcome are two-card totals of seven and pays odds of 50 to 1. Blazing 7 wins if both the banker's outcome and the player's outcome are three-card totals of seven and pays odds of 200 to 1.

(5) The cover all bonus wins if any one or more of the separate bonus wagers in sections (c)(1), (c)(2), (c)(3) or (c)(4) wins. The cover all bonus wager pays odds of 6 to 1. The cover all bonus may be played alone. Players are not required to place a separate bonus wager in order to win the cover all bonus wager.

(d) Dealing procedures for the 5 treasures baccarat bonus shall be as follows: (1) Players must make the standard midi-baccarat wager and, if desired, the optional 5 treasures baccarat bonus bet before the dealer reveals any of the cards.

(2) The dealer will collect and pay standard wagers first, and then the optional 5 treasures baccarat bonus bet of each player before moving to the next player position.

(e) A commission shall not be charged on winning 5 treasures baccarat bonus bets.

(f) The eternal baccarat bonus may be offered for play in the game of midi-baccarat. The eternal baccarat bonus offers several optional side bets with separate pay tables. The pay tables shall be posted on the midi-baccarat table.

(g) Rules for the eternal baccarat bonus bet are as follows:

(1) Players must make a standard midi-baccarat wager in order to make an eternal baccarat bonus bet;

(2) Eternal baccarat bonus bet limits will be posted at the table and must be made in \$5 increments; and

(3) Eternal baccarat bonus bets must be placed within the designated betting area on the game table.

(h) There are five optional wagers on the eternal baccarat bonus, as follows:

(1) Sun 7 wins if the banker's outcome is a three-card total of seven and pays odds of 40 to 1.

(2) Moon 8 wins if the player's outcome is a three-card total of eight and pays odds of 25 to 1.

(3) Supreme 7 wins if both the banker's outcome and the player's outcome is a three-card total of seven and pays odds of 200 to 1. Supreme 7 also wins if both the banker's outcome and the player's outcome are two-card totals of seven and pays odds of 50 to 1.

(4) Divine 9 wins if both the banker's outcome and the player's outcome are three-card totals of nine and pays odds of 75 to 1. Divine 9 also wins if either the banker's outcome or the player's outcome is a three-card total of nine and pays odds of 10 to 1.

(5) The eclipse bonus wins if any one or more of the separate bonus wagers in sections (h)(1), (h)(2), (h)(3) or (h)(4) wins. The eclipse bonus wager pays odds of 6 to 1. The eclipse bonus may be played alone. Players are not required to place a separate bonus wager in order to win the eclipse bonus wager.

(i) Dealing procedures for the eternal baccarat bonus shall be as follows:

(1) Players must make the standard midi-baccarat wager and, if desired, the optional eternal baccarat bonus bet before the dealer reveals any of the cards.

(2) The dealer will collect and pay standard wagers first, and then the optional eternal baccarat bonus bet of each player before moving to the next player position.

(j) A commission shall not be charged on winning eternal baccarat bonus bets. (Authorized by K.S.A. 2023 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2023 Supp. 74-8710; effective, T-111-6-1-22, May 11, 2022; amended, T-111-7-27-22, July 13, 2022; amended, T-111-9-25-23, Aug. 16, 2023; amended, T-111-1-31-24, Jan. 10, 2024.)

Stephen W. Durrell Executive Director Kansas Lottery

Doc. No. 051962

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations with a future effective date and the Kansas Register issue in which the regulation can be found. A complete listing and the complete text of all cur-rently effective regulations required to be published in the Kansas Administrative *Regulations* can be found at https://www. sos.ks.gov/publications/pubs_kar.aspx.

AGENCY 26: DEPARTMENT FOR AGING AND DISABILITY SERVICE

Reg. No.	Action	Register
26-52-1	New (T)	V. 43, Issue 9
26-52-2	New (T)	V. 43, Issue 9
26-52-3	New (T)	V. 43, Issue 9
26-52-4	New (T)	V. 43, Issue 9
26-52-5	New (T)	V. 43, Issue 9
26-52-6	New (T)	V. 43, Issue 9
26-52-7	New (T)	V. 43, Issue 9
26-52-8	New (T)	V. 43, Issue 9
26-52-9	New (T)	V. 43, Issue 9
26-52-10	New (T)	V. 43, Issue 9
26-52-11	New (T)	V. 43, Issue 9
26-52-12	New (T)	V. 43, Issue 9
26-52-13	New (T)	V. 43, Issue 9
26-52-14	New (T)	V. 43, Issue 9
26-52-15	New (T)	V. 43, Issue 9
26-52-16	New (T)	V. 43, Issue 9
26-52-17	New (T)	V. 43, Issue 9
26-52-18	New (T)	V. 43, Issue 9
26-52-19	New (T)	V. 43, Issue 9
26-52-20	New (T)	V. 43, Issue 9
26-52-21	New (T)	V. 43, Issue 9
26-52-22	New (T)	V. 43, Issue 9
26-52-23	New (T)	V. 43, Issue 9
26-52-24	New (T)	V. 43, Issue 9
26-52-25	New (T)	V. 43, Issue 9
26-52-26	New (T)	V. 43, Issue 9
26-52-27	New (T)	V. 43, Issue 9
26-52-28	New (T)	V. 43, Issue 9
26-52-29	New (T)	V. 43, Issue 9
26-52-30	New (T)	V. 43, Issue 9
26-52-31	New (T)	V. 43, Issue 9
26-52-32	New (T)	V. 43, Issue 9

AGENCY 63: BOARD OF MORTUARY ARTS

Reg. No. 63-2-3	Action Amended	Register V. 43, Issue 9		
AGENCY 82: CORPORATION COMMISSION				
Reg. No. 82-4-1	Action Amended (T)	Register V. 43, Issue 2		

Kansas Register

82-4-3j	Amended (T)	V. 43, Issue 2		
82-4-30a	Amended (T)	V. 43, Issue 2		
A GENCY 92: DEPARTMENT OF REVENUE				

AGENCY 92: DEPARTMENT OF REVENUE

Reg. No.	Action	Register
92-12-150	New	V. 43, Issue 10
92-12-151	New	V. 43, Issue 10

AGENCY 111: KANSAS LOTTERY

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, De- cember 28, 2000 <i>Kansas Register</i> . A list of reg- ulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 <i>Kansas Register</i> . A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 <i>Kansas Register</i> . A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 <i>Kansas Register</i> . A list of regulations filed from 2008 through No- vember 2009 can be found in the Vol. 28, No. 53, December 31, 2009 <i>Kansas Register</i> . A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 <i>Kansas Register</i> . A list of regulations filed from De- cember 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 <i>Kansas Register</i> . A list of regulations filed from November 7, 2013, through Decem- ber 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 <i>Kansas Register</i> . A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 <i>Kansas Register</i> . A list of regulations filed from 2018 through 2019, can be found in				
		nd in the Vol. 40, No.		
52, December	30, 2021 Ka	insas Register. A list of		
regulations fil	100 mom 20	022 through 2023 can No. 52, December 28,		
2023 Kansas R	ie vol. 42, 1 ogiotar	NO. 52, December 26,		
Reg. No.	Action	Pagistar		
111-4-3771	New	Register V. 43, Issue 5		
111-9-233	New	V. 43, Issue 5 V. 43, Issue 5		
111-19-169	New	V. 43, Issue 5		
111-20-1	New	V. 43, Issue 5		
111-20-2	New	V. 43, Issue 5		
111-20-2	New	V. 43, Issue 5		
111-20-4	New	V. 43, Issue 5 V. 43, Issue 5		
111-20-4	New	V. 43, Issue 5 V. 43, Issue 5		
111-20-6	New	V. 43, Issue 5		
111-20-7	New	V. 43, Issue 5		
111-20-8	New	V. 43, Issue 5		
111-20-9	New	V. 43, Issue 5		
111-20-10	New	V. 43, Issue 5		
111-20-11	New	V. 43, Issue 5		
	``	.,		

111-20-13	New	V. 43, Issue 5
111-20-14	New	V. 43, Issue 5
111-20-15	New	V. 43, Issue 5
111-20-16	New	V. 43, Issue 5
111-20-17	New	V. 43, Issue 5
111-20-18	New	V. 43, Issue 5
111-20-19	New	V. 43, Issue 5
111-20-20	New	V. 43, Issue 5
111-20-21	New	V. 43, Issue 5
111-20-22	New	V. 43, Issue 5

111-20-23

AGENCY 112 RACING AND GAMING COMMISSION

New

Reg. No.	Action	Register
112-201-1	New (T)	V. 42, Issue 44
112-201-2	New (T)	V. 42, Issue 44
112-201-3	New (T)	V. 42, Issue 44
112-201-4	New (T)	V. 42, Issue 44
112-201-5	New (T)	V. 42, Issue 44
112-201-6	New (T)	V. 42, Issue 44
112-201-7	New (T)	V. 42, Issue 44
112-201-8	New (T)	V. 42, Issue 44
112-201-9	New (T)	V. 42, Issue 44
112-201-10	New (T)	V. 42, Issue 44
112-201-11	New (T)	V. 42, Issue 44
112-201-12	New (T)	V. 42, Issue 44
112-201-13	New (T)	V. 42, Issue 44
112-201-14	New (T)	V. 42, Issue 44
112-201-15	New (T)	V. 42, Issue 44
112-201-16	New (T)	V. 42, Issue 44
112-201-17	New (T)	V. 42, Issue 44
112-201-18	New (T)	V. 42, Issue 44
112-201-19	New (T)	V. 42, Issue 44
112-201-20	New (T)	V. 42, Issue 44
112-201-21	New (T)	V. 42, Issue 44
112-201-22	New (T)	V. 42, Issue 44
112-201-23	New (T)	V. 42, Issue 44
112-202-1	New (T)	V. 42, Issue 44
112-202-2	New (T)	V. 42, Issue 44
112-203-1	New (T)	V. 42, Issue 44
112-203-2	New (T)	V. 42, Issue 44
112-203-3	New (T)	V. 42, Issue 44
112-203-4	New (T)	V. 42, Issue 44
112-203-5	New (T)	V. 42, Issue 44
112-203-6	New (T)	V. 42, Issue 44
112-203-7	New (T)	V. 42, Issue 44
112-203-8	New (T)	V. 42, Issue 44
112-204-1	New (T)	V. 42, Issue 44
112-204-2	New (T)	V. 42, Issue 44
112-204-3	New (T)	V. 42, Issue 44
112-204-4	New (T)	V. 42, Issue 44
112-204-5	New (T)	V. 42, Issue 44
112-204-6	New (T)	V. 42, Issue 44
112-204-7	New (T)	V. 42, Issue 44

V. 43, Issue 5

New

V. 43, Issue 5

111-20-12

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594